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Q1. Which of the Following Statements are Correct?
1. The Rh factor is a type of protein on the surface
of red blood cells.

2. People with Rh positive blood can donate to
those with Rh negative blood.

(a) Only 1 is correct

(b) Only 2 is correct

(c) Both 1 and 2

(d) Neither 1 nor 2

Q2. Select below which has Vascular Tissue and
Produces Spores, but does not Contain Seeds?

(a) Bryophyta

(b) Pteridophyta

(c) Gymnosperms

(d) Angiosperms

Q3. Which enzyme is responsible for breaking
down proteins into smaller peptides?

(a) Lipase

(b) Amylase

(c) Protease

(d) Nuclease

Q4. The 'fight or flight' response is activated by
which part of the nervous system?

(a) Central Nervous System (CNS)

(b) Somatic Nervous System (SNS)

(c) Sympathetic Nervous System (SyNS)

(d) Parasympathetic Nervous System (PSNS)

Q5. Which gas is usually released when an acid
reacts with a metal carbonate?

(a) Oxygen (03)

(b) Hydrogen (H-)

(c) Carbon dioxide (C0O3)

(d) Nitrogen (N)

Q6. Which of the following statements is correct?
1. Isotopes of an element have the same number of
protons but different numbers of neutrons.

2. Isotopes of an element have different atomic
numbers.

(a) Only Statement 1 is correct.

(b) Only Statement 2 is correct.

(c) Both Statement 1 and Statement 2 are correct.
(d) Neither Statement 1 nor Statement 2 is correct.

Q7.
What is the IUPAC name of the compound with the formula CH;-CH,-COOH?
(a) Propanoic acid

(b) Ethanoic acid

(c) Methanoic acid

(d) Butanoic acid

Q8. The sensation of weightlessness in a spacecraft
in an orbit is due to the -

(a) Absence of gravity outside

(b) Acceleration in the orbit which is equal to the
acceleration due to gravity outside

(c) Presence of gravity outside but not inside the
spacecraft

(d) Fact that spacecraft in the orbit has no energy

Q9. Five bulbs each of 100-watt capacity in a tunnel
are illuminated continuously for twenty hours. The
consumption of electricity will be:

(a) One unit

(b) Two units

(c) Ten units

(d) Twenty units

Q10.In electromagnetic induction, the magnitude
of the induced emf in a coil is directly proportional
to the:

(a) Current in the coil

(b) Resistance of the coil

(c) Rate of change of magnetic flux linkage

(d) Temperature of the coil

Q11. The famous naval expedition against the
Kalabhras was carried out by which Chola king?
(a) Vijayalaya Chola

(b) Aditya I

(c) Rajaraja Cholal

(d) Karikala Chola
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Q12.The successors of the Satavahanas in the
Deccan were the

(a) Vakatakas

(b) Kadambas

(c) Rashtrakutas

(d) Chalukyas of Badami

Q13. Farrukh Siyar was known for his involvement
in the "Syed Brothers' Conspiracy."” Who were the
Syed Brothers?

(a) European traders

(b) Persian diplomats

(c) Local nobles

(d) Afghan warlords

Q14. Who was the only Governor-General/Viceroy
to be assassinated in office?

(a) Lord Mayo

(b) Lord Ripon

(c) Lord Minto

(d) Lord Bentinck

Q15. Who reversed the Vernacular Press Act?
(a) Lord Hardinge

(b) Lord Ripon

(c) Lord Mayo

(d) Lord Lytton

Q16. Who was the Peshwa in the Maratha
administrative system?

(a) The religious head of the Maratha community
(b) The hereditary Prime Minister and chief
administrator of the Maratha Empire

(c) The military commander-in-chief of the Maratha
army

(d) The chief diplomat responsible for foreign
relations

Q17. President Smt Droupadi Murmu has given her
approval for Gallantry awards to members
of the Armed Forces and Central Armed Police
Forces on the occasion of Independence Day 2023.

(a) 74 Gallantry awards

(b) 75 Gallantry awards

(c) 76 Gallantry awards

(d) 77 Gallantry awards

Q18. Who has been appointed as the managing
director of Life Insurance Corporation of India
(LIC)?

(a) A. Patel

(b) K. Sharma

(c) S. Rajan

(d) R. Doraiswamy

Q19. What is the total financial allocation for the
‘Abua Awas Yojna' announced by the Jharkhand CM?
(a) Rs 10,000 crore
(b) Rs 15,000 crore
(c) Rs 20,000 crore
(d) Rs 25,000 crore

Q20. Who recently achieved a remarkable feat by
becoming the first player to secure consecutive ICC
Women's Player of the Month awards?

(a) Ellyse Perry (Australia)

(b) Meg Lanning (Australia)

(c) Ashleigh Gardner (Australia)

(d) Sophie Devine (New Zealand)

Q21. Typhoon Lan made landfall in , August
15, bringing heavy rain and strong winds. The
typhoon has caused flooding and power outages in
several areas, and authorities have issued
evacuation warnings for some residents.

(a) North Korea

(b) China

(c) Japan

(d) South Korea

Q22. According to Global Firepower's assessment,
which country currently holds the title for the
world's most powerful military force?

(a) India

(b) China

(c) Russia

(d) United States

Q23. What is the primary cause of the jet streams'
undulating, wave-like pattern?

(a) Earth's rotation

(b) Thermal contrast between air masses

(c) Coriolis effect

(d) Rossby waves
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Q24. Which of the following rocks is primarily
composed of layers of volcanic ash?

(a) Granite, formed from slow-cooling magma

(b) Shale, formed from mud and clay particles

(c) Tuff, formed from volcanic ash

(d) Quartzite, formed from the metamorphism of
quartz sandstone

Q25. The Godavari River, which is among the
longest rivers in India, originates from a plateau
known for its volcanic geology. What is the name of
this plateau?

(a) Baghelkhand Plateau

(b) Marwar Plateau

(c) Deccan Plateau

(d) Kathiawar Plateau

Q26. Which crop is known as "Golden Fiber" and is
particularly grown in the state of West Bengal?

(a) Sugarcane

(b) Cotton

(c) Jute

(d) Mustard

Q27. Which tribe is well-known for its traditional
dance form called "Gaur Dance"?

(a) Gonds

(b) Khasis

(c) Warlis

(d) Santals

Q28. The Pamba River, significant for a major
pilgrimage center in India, flows through which
state?

(a) Tamil Nadu

(b) Kerala

(c) Karnataka

(d) Andhra Pradesh

Q29. Identify the Incorrect statement.

(a) Storm surge is a rise in sea level caused by a
storm's winds.

(b) The damage caused by cyclones is primarily due
to the high wind speeds.

(c) The eye of a cyclone is typically clear of clouds.
(d) The diameter of a cyclone's eye is usually more
than 200 km.

Q30. Which Article empowers the President to
impose Financial Emergency?

(a) Article 356

(b) Article 352

(c) Article 364

(d) Article 360

Q31. Who among the following shall communicate
to the president all the decisions of the council of
ministers under article 78?7

(a) Prime minister

(b) Home minister

(c) Vice President

(d) Attorney general

Q32. Which of the following statements is correct?
1. The Speaker of the Lok Sabha has the power to
preside over the joint sitting of both Houses of
Parliament.

2. The Deputy Chairman of the Rajya Sabha is
elected by the members of the Rajya Sabha.

(a) Only 1 is correct.

(b) Only 2 is correct.

(c) Both 1 and 2 are correct.

(d) Neither 1 nor 2 is correct.

Q33. What happens to the Governor's office if a
state is under President's rule?

(a) The Governor continues to hold office but with
limited powers

(b) The Governor's office becomes vacant

(c) The Governor acts as the President's
representative in the state

(d) The Governor's office is taken over by the Chief
Justice of the state High Court

Q34. Which of the following Articles prohibits
discrimination on grounds of religion, race, caste,
sex, or place of birth?

(a) Article 13

(b) Article 15

(c) Article 21

(d) Article 25

www.sscadda.com

www.bankersadda.com

www.adda247.com



http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

Q35. What type of taxes are included in the
distribution between the Centre and States as per
the Finance Commission?

(a) Direct Taxes only

(b) Indirect Taxes only

(c) Both Direct and Indirect Taxes

(d) None of the above

Q36. How long must not intervene between the last
sitting in one session and the date appointed for the
first sitting in the next session of the State
Legislature?

(a) Three months

(b) Four months

(c) Six months

(d) One year

Q37.NDP at FC = GDP at FC minus
(a) depreciation

(b) indirect taxes

(c) net factor income from abroad

(d) subsidies

Q38. Who was awarded the Nobel Prize in Physics
in 1926, for his work on the discontinuous
structure of matter’?

(a) Charles Wilson

(b) Murray Gell-Mann

(c) Jean Baptiste Perrin

(d) Owen Willans Richardson

Q39. Which base unit, discovered in 1820,
represents one coulomb of electric current per
second?

(a) Volt

(b) Kelvin

(c) Candela

(d) Ampere

Q40. ‘The Wings of Fire’ is an autobiography of
which of the following Presidents of India?

(a) Ram Nath Kovind

(b) Pranab Mukherjee

(c) APJ Abdul Kalam

(d) Kocheril Raman Narayanan

Q41. Select the terms that will replace the ? in the
following series.

V,S,2,N, L2, G

(a)O,H

(b)O,G

(c)P,H

(d) QI

Q42. Select the term that will come next in the
following series.

JMT, KNU, LOV, MPW, ?

(a) NQX

(b) NRX

(c) NQY

(d) NRY

Q43. Which number will replace the question mark
(?) in the following series?

4,9,16, 25, 36,49,?

(a) 121

(b) 64

(c) 100

(d) 81

Q44. Which number will replace the question mark
(7) in the following series?

80, 63,48, 35,7,15

(a) 30

(b) 27

(c) 24

(d) 18

Q45. Two statements are followed by two/three
conclusions numbered I and II or III. Assuming the
statements to be true, even if they seem to be at
variance with commonly known facts, decide which
of the conclusions logically follow(s) from the
statements.

Statements:

All birds can fly.

Some birds are ostriches.

Conclusions:

I. All ostriches can fly.

[I. Some flying creatures are ostriches.

[1I. All ostriches are birds.
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(a) Both conclusions I and II follow
(b) Only conclusion II follows

(c) Both conclusions Il and III follow
(d) All conclusions follow

Q46. Two statements are followed by two/three
conclusions numbered I and II or III. Assuming the
statements to be true, even if they seem to be at
variance with commonly known facts, decide which
of the conclusions logically follow(s) from the
statements.

Statements:

Some flowers are roses.

All roses are red.

Conclusions:

[. Some flowers are red.

II. All red things are roses.

[II. Some red things are flowers.

(a) Only conclusion I follows

(b) Only conclusion III follows

(c) Both conclusions I and III follow

(d) All conclusions follow

Q47. From the given alternative words, select the
word which cannot be formed using the letters of
the given word.

ENTHUSIASTIC

(a) HASTE

(b) STATIC

(c) ETHNIC

(d) THEORY

Q48. From the given alternative words, select the
one which cannot be formed using the letters of the
given word.

DIMENSIONAL

(a) SLIME

(b) MANSION

(c) MEADOW

(d) NOMAD

Q49. A word/set of letters given in capital letters is
followed by four answer words. Out of these, only
one cannot be formed by using the letters of the
given word/set of letters. Find out.

INTERPRETATION
(a) INERT

(b) ATTENTION
(c) PATTERN

(d) PROUD

Q50. Select the correct alternative to indicate the
arrangement of the following words in alogical and
meaningful order.

1. Circle

2. Point

3. Line

4. Shape

(2)2,3,1,4

(b)4,1,3,2

(c)3,2,1,4

(d)2,1,3,4

Q51. Select the correct alternative to indicate the
arrangement of the following words in alogical and
meaningful order.

1. Conclusion

2. Body

3. Introduction

4. Abstract

(2)4,3,2,1

(b)3,2,1,4

(c)3,4,2,1

(d)1,2,3,4

Q52. Select the correct alternative to indicate the
arrangement of the following words in a logical and
meaningful order.

1. Customer

2. Manufacturer

3. Retailer

4. Distributor

(a)2,4,3,1

(b) 3,4,2,1

(©)1,3,4,2

(d)4,3,1,2
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Q53. Three of the following four cars are alike in a
certain way and one is different. Pick the odd one
out.

(a) Ford

(b) Tesla

(c) Chevrolet

(d) BMW

Q54. If 'Meticulous' is related to 'Careful’, how is
'Lethargic' related to?

(a) Energetic

(b) Enthusiastic

(c) Slack

(d) Passionate

Q55. Select the number that is related to the third
number in the same way that the second number is
related to the first number.

14:16::22:7

(a) 10

(b) 12

(c)16

(d) 18

Directions (56-60): Study the following
information carefully to answer the given
questions.

Six students get different marks in an examination.
The 2nd highest mark is 56. ] gets higher marks than
U who gets 43 marks. H gets higher marks than B
but less than P who gets less marks than U. O gets
lower marks than ] but higher than U.

Q56. Who among the following students get 56
marks?

(@]

(b)o

(c)B

(d) None of these

Q57. How many students get less marks than P?
(@1
(b) 2
(c)3
(d) 4

Q58. What will be the marks obtained by H, if
the sum of total marks of O, Uand His 120?

(a) 11

(b) 22

(c) 34

(d) 21

Q59. How many students get less marks than B?
(a1
(b) 2
(90
(d) 4

Q60.What is the sum of total marks scored by O
& U?

(a)97

(b) 99

(c)98

(d) 100

Q61. Choose the set of numbers that is similar to
the following set.

(121, 26, 225)

(a) (144, 21, 4)

(b) (100, 16, 36)

(c) (169, 27, 64)

(d) (49, 14, 25)

Q62. Select the number pair in which the two
numbers are related in the same way as the two
numbers of the pair given below:

(a)52:7

(b)67:8

(c)83:9

(d)103:10

Q63. The ratio of the monthly incomes of three
employees, Atul, Arun and Ayushi is 11:13 :15,
respectively. If Arun’s annual income is Rs. 15,600,
what is the sum of Atul’s and Ayushi’s annual
income?

(a) Rs. 26000

(b) Rs. 24800

(c)Rs. 31200

(d) Rs. 32400
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Q64. Priya's age is thrice the age of his daughter
Riya. If five years ago Priya's age was five times to
the age of Riya, then what is the present age of Riya?
(a) 10 years
(b) 15 years
(c) 12 years
(d) 30 years

Directions (65-66): In each of the questions given
below, there are two statements marked as
Assertion (A) and Reason (R). Mark your answer
as per the codes provided below:

Q65. Assertion (A): We cannot see objects in a dark
room.

Reason (R): Light is necessary to see objects.

(a) Both A and R are true and R is the correct
explanation of A.

(b) Both A and R are true but R is not the correct
explanation of A.

(c) Ais true but R is false.

(d) Ais false but R is true.

Q66. Assertion (A): The 'right to property' is a
fundamental right in India.

Reason (R): Fundamental rights are enshrined in
the Indian Constitution.

(a) Both A and R are true and R is the correct
explanation of A.

(b) Both A and R are true but R is not the correct
explanation of A.

(c) Ais true but R is false.

(d) A is false but R is true.

Q67. Arjun is the brother of Pranav. Bhumika is
Arjun's daughter. Chirag is Bhumika's son. Dhruv is
Pranav's son. How is Dhruv related to Chirag?

(a) Brother

(b) Cousin

(c) Uncle

(d) Nephew

Q68. Sunil is the father of Preeti. Ramesh is Sunil's
brother. Jyoti is Ramesh's daughter. Udit is Jyoti's
son. How is Udit related to Preeti?

(a) Cousin

(b) Brother

(c) Nephew

(d) Son

Q69. In a code language, MONDAY is written as
ADMNOY. How will EVEN be written as in that
language?
(a) DDVN
(b) CCEE
(c) EEVN
(d) EENV

Q70. If PIN is coded as 13 and SHED is coded as 9,
then how will SIN be coded as?

(a) 16

(b) 12

(c) 15

(d) 14

Q71. Arrange the following words as per order in
the dictionary:

1. Thumb

2. Thump

3. Thimble

4. Thrive

(@)3,1,2,4

(b)3,2,1,4

(c)1,3,2,4

(d)3,4,1,2

Q72. Arrange the following words as per order in
the dictionary:

1. Penultimate

2. Perish

3. Persevere

4. Period

(a) 1,4,2,3

(0)1,2,3,4

(c)4,3,2,1

(d) 23,41

Q73. If Abhay is to the south of Badal and Chandan
is to the east of Badal, in what direction is Abhay
with respect to Chandan?

(a) North-west

(b) South-west

(c) South-east

(d) North-east
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Q74. If Anuj stands on his head with his face
towards north, to which direction will his left hand
point?

(a) North

(b) West

(c) East

(d) South

Q75. Which two signs should be interchanged in
the following equation to make it correct?
12x6+2+39-13=73

(a) + andx

(b) -and+

(c) +andx

(d) -and +

Q76. Three of the following four animals are alike
in a certain way and one is different. Pick the odd
one out.

(a) Giraffe

(b) Elephant

(c) Lion

(d) Zebra

Q77. Three of the following four elements are alike
in a certain way and one is different. Pick the odd
one out.

(a) Hydrogen

(b) Helium

(c) Neon

(d) Oxygen

Q78. Three of the following four sports are alike in
a certain way and one is different. Pick the odd one
out.

(a) Football

(b) Cricket

(c) Baseball

(d) Badminton

Q79. In a group of animals, Lion is faster than
Zebra. Giraffe is slower than Zebra but faster than
Bear. Elephant is slower than all. Who is the second
fastest?

(a) Lion

(b) Giraffe

(c) Zebra

(d) Elephant

Q80. Five students - P, Q, R, S and T - scored
differently in an exam. R scored more than only T. P
scored less than Q but more than S. Who scored the
highest?

(@P

(b) Q

(cJR

(d)S

Q81. What is the ratio of mean proportional
between 3.6 and 12.1 and third proportional
between 2 and 117

(2)36:5

(b)6:5

(c)11:36

(d) 6:55

Q82. Rs. 7,80,516 is divided among A, B, C and D in
the proportion of 2: 3 : 4 : 3. The share of C is:

(a) Rs. 2,60,172

(b) Rs. 1,95,129

(c) Rs.1,30,086

(d) Rs. 2,24,562

Q83.

A and B can finish a work together in 3 ; days, C and D can finish the same work in 3 %days. If A,
B, C and D do the work together, how long will it take for them to finish half of the work?

(a) 1% days
(b)  day
(c) = day
(d)  day

Q84. A can do a work in 12 days and B can do same
work in 18 days. After 5 days of working together,
how much work will be left?

(a) 7/25

(b)11/36

(c)5/13

(d)5/12

Q85. A shopkeeper marks an article at a price such
that after giving a discount of 25%, he gains x%. If
the cost price and the marked price of the article are
Rs 460 and Rs 736 respectively, what is the value of
x?

(a) 20%

(b) 18%

(c) 24%

(d) 16%
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Q86. The successive discount of 20%, 10% and 8%
is equivalent to a single discount of:

(a) 66.24%

(b) 32.84%

(c) 38%

(d) 33.76%

Q87. Three years ago, average age of ‘Amit’, ‘Bittu’
and ‘Chitu’ is 27 years. Four years hence, ratio of
Amit and Chitu’s age is 7 : 10. If Bittu is 6 years
younger than Chitu, then find present age of ‘Amit’?
(a) 24 years
(b) 27 years
(c) 30 years
(d) 28 years

Q88. What is the sum of digits of the least number,
which when divided by 15, 18 and 42 leaves the
same remainder 8 in each case and is also divisible
by 13?
(a) 25
(b) 24
(c) 22
(d) 26

Q89. The square root which of the following is a
rational number?

(a) 5535.36

(b) 3152.88

(c) 72905.2

(d) 67508.5

Q90. The number 23474 is exactly divisible by :
(a) 2 and 4 only

(b) 2 and 11only

(c) 2 and 3 only

(d) 2 only

Q91. A sum of Rs 15000 is invested partly at 12%
per annum and the remaining at 10% per annum
simple interest. If the total interest at the end of 2
year is Rs 3344 how much money was invested at
10% per annum?

(a) Rs 6,200

(b) Rs 6600

(c) Rs 6400

(d) Rs 6500

Q92. In the given bar graph, what is the average
number of girls in all colleges?

Number of Boys and Girls in College A, B, C, Dand E

B00
w700

750
650 " 550

8 600 600
600 500 500 250
23500 4po
w400
= 300
£
E 200
=
= 100

0

A B c D E

B Boys BGirk

(a) 560
(b) 540
(c) 550
(d) 600

Q93. In the given histogram, what percentage of
students have height in the interval of 105 - 1107?

20 17
8 15
5 15 14 13
= 1 10
@ 10
: I
L5
L
E o
= 100-105 105-110 110-115 115-120 120-125 125-130
| Height Class
(a) 17.5%
(b) 18%
(c) 16.5%
(d) 17%

Q94. In the given pie-chart, the expenditure on
steel is what percent of the expenditure on cement?

Degree of Cost incurred in different
Expenditure (Total Rs. 4,50,000)

Labour, 108

(a) 55%
(b) 50%
(c) 40%
(d) 45%

9 | www.sscadda.com

www.bankersadda.com

www.adda247.com



http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/

Q95. The average age of A and B is 32 years. If C
were to replace A, the average would be 34 years
and if C were to replace B the average would be 33.
What are the ages of A, B and C respectively.

(a) 31,33,35

(b) 33,32, 36

(c) 35,30, 28

(d) 23,27,33

Q96. Sum of A’s and B’s age 6 years ago is 88. A’s
age 18 yrs ago is equal to B’s age 6 years ago. Find
the age of A two year hence?

(a) 58 yrs

(b) 64 yrs

(c) 42 yrs

(d) 52 yrs

97 675675 X675 +325x326X 325
Q " 67.5%67.5+32.5%32.5-67.6%32.5

(a) 100

(b) 10,000
(c) 1,000
(d) 1,00,000

is equal to:

Q98.9%—: [2&4—[4&—(2%4—%)}] is equal to
(@3
(b) 15/4
(c) 4
(d)17/4
4 3 4 3 1,
Q99. 4;—:; of 7 +EXE_E'5 equal to
(@7/5
(b) 8/5
(c) 34/25
(d) 41/25

Q100. A mixture A having 18% concentration of
acid is mixed with another mixture B having 39%
concentration of acid. If the resultant mixture has
27% of the concentration of acid, then find the ratio
in which A and B were mixed.

(a)4:3

b)7:6

(c)9:8

(d2:1

Q101. Three painters have to spend 6 hours a day
for 12 days to finish a work. If after 3 days one
painter leaves, in how many days the remaining
work will be completed?

(a) 152

1

(b) 132
()11
(d)8

Q102. A shopkeeper marks his good at a price such
that after giving a discount of 25%, the gain is 20%.
If the marked price of the article is Rs 736. What is
the cost price of the article?

(a) Rs 450

(b) Rs 455

(c) Rs 460

(d) Rs 440

Q103. Ratio of age of Ravi to Vicky, 4 years ago was
5: 6, while ratio of present age of Rocky to that of
Vicky is 5: 4. If 2 years later sum of age of Ravi and
Rocky will be 63 years, then find the difference
between present age of Ravi and Vicky?

(a) 4 years

(b) 2 years

(c) 8 years

(d) 6 years

Q104. Sum of ages of A and B is 12 years more than
twice the age of C and Sum of ages of A & D is twice
the age of C. If the average age of B&D is 50 years
and average age of all four is also 50 years, then find
the difference between the age of A and C?

(a) 6 years

(b) 1 years

(c) 3 years

(d) 4 years

Q105. If the seven-digit number 56x34y4 is
divisible by 72, then what is the least value of (x +
y)?

(a) 8

(b)12

(c)5

(d) 14
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Q106. The Square root of which of the following is
arational number?

(a) 2361.96

(b) 2758.28

(c) 72568.4

(d) 62504.9

6.75%6.75%6.75-4.25%4.25%4.25 ,
Q107. is equal to:
' BT.5X67.5+42.5%42.5+67.5%42.5

(a) 2.5

(b) 0.25
(c) 0.0025
(d) 0.025

Q108. 5?— [35 — [E_ (E+ ; — 14_5)}] is equal to:
(a) 21/10

(b)7/5

(c)7/3

(d)8/3

Q109. The HCF and LCM of two numbers is 6 and
5040 respectively. If one of the numbers is 210,
then the other number is:

(a) 630

(b) 144

(c) 256

(d) 30

Q110. A and B start walking together from a point.
Their steps measure 72 cm and 84 cm respectively.
What is the minimum distance they should walk so
that each takes exact number of steps?

(a) 2.7m

(b) 3.54m

(c)6.3m

(d) 5.04 m

Q111. In an examination, 54% of the candidates
passed in science and 42% failed in mathematics. If
32% failed in both subjects, what percentage
passed in both subjects?

(a) 56%

(b) 48%

(c) 32%

(d) 44%

Q112. The average of all prime numbers between
10 and 25 is:

(a) 14.7

(b) 15.3

(c) 18.67

(d) 16.6

Q113. The average of 22 numbers is 52. The
average of the first 8 numbers is 48 and the average
of next 11 numbers is 54. The 20t number is 7 less
than the 21st number and 21st number is 4 more
than 2274 number. What is the average of the 20t
and 2214 numbers?

(a) 52

(b) 52.5

(c) 53

(d) 53.5

Q114. A sum of Rs. 13,440 was distributed in two
parts. The first part given on loan at 4% per annum
for three years while the second part at 6% for 5
years. If interests accrued on both the parts were
equal, then what was the difference between the
parts?

(a) Rs. 3840

(b) Rs. 3640

(c) Rs. 9600

(d) Rs. 5760

Q115. A mixture A having 18% concentration of
acid is mixed with another mixture B having 39%
concentration of acid. If the resultant mixture has
27% of the concentration of acid, then find the ratio
in which A and B were mixed.

(a)4:3

(b)7:6

(c)9:8

(d2:1

Q116. A trader marks the cost of a car 24% above
its price and allows a discount of 15%. If the
discount is Rs. 2,23,200, then the cost price of the
car is:

(a) Rs. 11,60,000

(b) Rs. 15,80,000

(c) Rs. 14,25,000

(d) Rs. 12,00,000
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Q117. Average marks of Bunty, Shunty & Chunky in
an exam is 90 while that of Dumpty is 20% more
than average marks of Shunty. If average marks of
Bunty & Chunky is 95. Find average marks of all
four.

(a)91.5

(b) 93.5

(c) 88.5

(d)9o

Q118. The least number that should be added to
10000 so that it is exactly divisible by 327 is:

(a) 327

(b) 237

(c) 137

(d) 190

Q119. The cube root of 3375 is equal to:
(a) 35
(b) 25
(c) 55
(d) 15

Q120. The value crf?:-%— [2%— [2— (E + 1 —i)}] is
(a) 6/5

(b)9/10

(c)11/10

(d) 13/5

Directions (121-155): Ruffed wit 1 eamgds
e FIOIT i i & S A o forg 3= Rwew
&1 =799 fifrw)

Q121. THZ-ATAAT F YT YT HAAT &l fohde a1 o
FreTTATE?

(a) Th

(b) =T

(c) =

(d) =T

Q122. HTAT = AT UT T fohae THTL & g 57
(a) =T

(b) =X

(c) &t

(d)=:

Q123. IFTT TATH LT T T S I F 872
(=,

(b) &, @
(0, =
(da,=

Q124. fw T erex &7 A=A 9187 AT

Q125. 3T T 973 T A 9158 HA?
AT

(a) 3mH

(b) ferere

OERI

(d) afrs

Q126. f2T 7T 91ez F YATHATHT 9T6% &1 FI FHIToTU)

Q127. ‘& &1 qATAATHT a1
(a) 9=

(b) Fa=

(c) srazar

(d) str=rTur

Q128. ‘FAauTe’ T farety oz 2
(a) forerdft

(b) T

OEIESIE

(d) frga
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Q129. ‘FeAT FT A sz Bl

Q13 5.7 7T T HT A1 [Teh Head & |

(a) &ftor e aamEm = d WmftEa_ g2l
(b) frera (a) qsﬁ aw
(c) e (b) wrom
(d) ot (c) FHTAT- ﬁTﬂTﬂ
(d) Herg-aiatwar
Q130. ‘I’ T AT sz Bl
(a) T Q136. TH FAT & T8 H ATSITET ST FHLA hl =T
(b) 7= ALARH_ =N
(c) F=ter (a) THYTE
(d) e (b) TF
(c) 3HE
Q131. IgIE’ & AFATH A5l 5l (d) =T
(a) ITX
DEIE Q137. AT ____ FETHI &, THITU AT FgeTd
(c) STt &l
(d) st OEERL
(b) &y
Q132.9T&e &I TATAATHT Al Bl (c) SaFTeRt
() sTT= (d) =t
(b) =
(c) Tt Q138.50___ a4 fRadrggrar s
(d) aT= (a) SATEAT
(b) o1
Q133. ‘TATR’ 9T &1 Hal 61 A=we aar (c) ST
(a) TET+3TTE (d) =T=ET
(b) sfa+amts
(c) Tfa+amts Q139. HMgTaqd g
(d) Tfa+amfe () &1
(b) &=
Q134. fw T fashedt & & 7t fasheq w1 s T FF | (o)
TAT %l g < (d) &=
TH I FT Shagra i T o U Ageayur =T
AT AT Q140. ‘TTH TIEAT T FAT 37 52
(a) T (a) Z=Ta AT
(b) 5f® b) AT | AT AT
(c) T (c) STTATTA AT AT
(d) T (d) S TITHT FLAT
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Q141. FTH % AFT | gf Forer T=T" o qgray &7 orf
a7

(a) o q=Ta & et 72T

(b) o 9% gram= FaTe AT

(c) R agTr dar gET

(d) Rz areaT

Q142. ‘T T HgT I & FAT AT 5?2
(a) TAL AT 1T ATAAT

(b) ¥ FAAT

(c) g1t a1 9 forsame eAT

(d) =TT T FHSIL ZIAT

Q143. T A gHT RTa< HT Tl o FAT §?
(a) o< Az gHAT

(b) =T BT

(c) qHT=q & 9247

(d) STEFTET BT

Q144. Mo 9T HgTa H § d 14 HgraL Hel & AT

U AT HgTaL &l 9T o1
(a) & AT

(b) @t Al

(c) &I e THTAT T@T

(d) =T 2T T

[ oI e N e

Q145. Mo qgTa< SlI¥ 372 &1 i 97 0 ITLh
T &7

(a) FerSIT Hg &l SAFT-TTH T T

(b) ST AT-LTET &AT

(c) ST 9T FEAT-FATRE g1

(d) TET Fe-FioT w1

Q146. Faferfad Hgray & Hat o2 &1 74 H1

‘AT o ZI TSI T SATee o T -

(a) 22T T ITTH H STHAHA ST

(b) & < T AT S grar &

(c) Zoa% i=F FAT

(d) Tt srad forerer it SueAT e et o &1 § &1
ST

Q147. ‘ST T THTH-TEUZ FAT T2
(a) AT H IF

(b) T & I<h

(c) ST o forT <k

(d) ST TR

Q148. T=a= FTAA
(a) HeT S3AT

(b) ¥ AT

(c) AT FTEAT

(d) ST AT

Q149. FYTHTH' H FHIA-AT THTH g?
(a) FH TLET THTH
(b)WmW

(c) HaY I&T THTH

(d) EIBETY qIRY qHTH

Q150. ‘FAFwaar | FHCad § § HIF-87 THTE 872
(a) T<T&T FHTH

(b) Fgsfife &

(c) FHET T

(d) srerftsTa /9T

Q151. FTHT § YIH A&l § TLEIT ATHIT Tl Fgd o-
(a) 3=
(b) e
(c) SEe

(d) 9aFq

Q152. fAger: I F T T FI9 o0

W e AR AT, T TH A | A1 HTH = ST ?
EEICEIREEIER]

OIGREIER]

CERUEIEE]

EESEIER]

Q153. 312 o ST I¥ T e Tele 3797 T fohae amr o
[EGSAER SIS

(a) 11

(b) 10

(c) 14

(d) 16
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Q154. fSre T § I AT &7 7 T Taa= ITATHT g
ST AT BT 2 2, o FeeAral &7

(a) ¥ ATHFT

(b) HIH aTFT

(c) forfara arrr

(d) STaTET

Q155. 'ag HIST TATAT gI' ATHT § I dT 77 8?2
(a) ATAAILH

(b) sfeger

(c) Roreamam=

(d) of 7e

Directions (156-160): fAwrfrfRra Terier i gz
& T WA & dei/a99 SqYh I a1 faaeq &
3T

T&T T TS Fls STAT ATAT I ¢, TT a8 JTAT oAl gl A&l
o ToRATY O Tg & STohTeT 3T ST AT TgaT af Al | 75 Tl
ST AT &l & aa A&l ATdT 8 gHTE HEel Tahrdl gl Tat
T T AT S AT oftae gaT| et o FoheTe-TeheTe
THA S0 AT TR 6 ATGATcEH 6 @ TaTg T F907
AT g1 AT TET BT A 3T TaTg fZ-+ie g, aa ar
3 AT T g ATeAl il HIAT 3H A&l I Bl (9T
FIAT gl TAHA Al %l AT g1 TaT [Ty a9 gu AT
T TAT-ITAT H AT THT TR HIT T TaT H7 399 f
ST, A7 g8 Toha«T SMFg AT 8| gl Ag< & 9g aT
ATIHSA AT Fgl el T Tg T | AT o0 A1 FT
AT AT HIAH gl ST gl T4l AL Al 6, AoFh %<
T T HXT ATAT IAT 5| TT I[& T G& AF9TF & Al
&l T off F&T FAT 3= 2

Q156. =TT o FTATT ATGAT [ [oheTehl ITAT AT TS &2

Q158. T (AT I 4ET ad & qa ol HIAT af gHT
FHA TRTAT 1" AT F a1y g

(a) FT ST & FEAL T [&=TE BT & T 7Y % ST ¥
A THTS SATAT B

(b) AYT TAT T&T o ST I T FHAT T [F=ATS BAT 2
() ST F9T gl gIdT & O A&l o STl | HEAl 1 (&A1
T2l

(d) T = THTLT F AT § Tl FHA T | Fraav
FLAT 2

Q159. 7T AT aH IgT il A di | AT g THTET
T & T4 % 390 g1 UT S VT ZraT 8, F11oh:

(a) Trsft erg <t T ATy Ao gt gl

(b) A= = faTy Ta=e argHe = o g0-90 IFfd &
A B 5l

(c) 7=T 3 AT T8 T8¥ I BId 2|

(d) AT o8l T GIL AT <l g

Q160. fFafafaa & & F=-a7 Foauur-faasy =1
IRTEIT 8?2

(a) T =T

(b) efiaer gaT

(c) =T |TaT

(d) Trer TretT

Q161. The following sentence has been split into
four segments. Identify the segment that contains a
grammatical error.

Rahul sings very sweet when he is in a good mood.

(a) very sweet

(b) when he is

(a) &t (c) in a good mood

(b) =& (d) Rahul sings

(c) ATaT

(d) gar Q162. Select the most appropriate option to fill in
e - | theblank.

Q157. =T % fohT¥ Te ot el 1 fobey arey 1 e =12t My grandfather was a farmer and he three

Rkt acres of land.

(a) =heTd (a) cultivated

(b) =TT (b) advanced

(c) auT (c) grown

CELS (d) cultured
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Q163. Select the most appropriate meaning of the
given idiom.

Lose your touch

(a) Doing someone a favour in hopes that the favour
will be returned

(b) To be passed from one person to another

(c) Not being as successful as previously

(d) Something being very difficult to find

Q164. The following sentence has been split into
four segments. Identify the segment that contains a
grammatical error.

She had resign from the post before he apologised.
(a) She had resign

(b) he apologised

(c) post before

(d) from the

Q165. Select the most appropriate synonym of the
given word.

Bafflement

(a) Confusion

(b) Pleasure

(c) Clarity

(d) Cleanliness

Q166. Select the most appropriate ANTONYM of
the given word.

Praise

(a) Celebrate

(b) Condemn

(c) Hail

(d) Secure

Q167. Select the most appropriate option that can
substitute the word/s given in bold in the given
sentence.

We want to divide the expenses between the three
of us.

(a) at

(b) among

(c) from

(d) for

Q168. Select the most appropriate meaning of the
given idiom.

At one’s elbow

(a) Next to someone

(b) Far away

(c) Strong grip

(d) Strong bond

Q169. Select the most appropriate synonym of the
given word.

Confront

(a) Mingle

(b) Conceal

(c) Challenge

(d) Scheme

Q170. The following sentence has been split into
four segments. Identify the segment that contains a
grammatical error.

After a long and fun-filled day, the children slept
themselves peacefully.

(a) along and fun-filled day

(b) slept themselves peacefully

(c) the children

(d) After

Q171. Select the INCORRECTLY spelt word.
(a) Laxuryous
(b) Innocent

(c) Zealous
(d) Judicial

Q172. Select the option that can be used as a one-
word substitute for the words given in bold in the
given sentence.

Geeta is doubtful about getting hired as she is
inexperienced at this job.

(a) Professional

(b) Expert

(c) Ace

(d) Novice
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Q173. Parts of a sentence are given below in
jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.

(A) is credited with saying

(B) do not dry your feet

(C) If you want to leave your footprint on the sands
of time,

(D) Dr. AP] Abdul Kalam, former President of India
(@)D,C A, B

(b)D,AC D

(c)C A B,D

(d)A,B,C,D

Q174. Select the INCORRECTLY spelt word.
(a) Arguement

(b) Performance

(c) Valuable

(d) Secretary

Q175. Select the most appropriate option to fill in
the blank.

The writer declares that
childhood is a criminal act.
(a) robbing

(b) robbed

(c) rob

(d) to rob

children of their

Q176. A sentence has been given with a blank to be
filled with an appropriate option. Choose the
correct alternative.

The small amount of fusion fuel ___ to be heated to
huge temperatures.

(a) needs

(b) peed

(c) needing

(d) needful

Q177. Find the part of the given sentence that has
an error in it. If there is no error, choose ‘No error’.
Largest farmers usually have more money, social
power and local influence.

(a) and local influence.

(b) Largest farmers usually

(c) have more money, social power

(d) No error

Q178. Improve the highlighted part of the sentence.
Choose “No improvement” as an answer if the
sentence is grammatically correct.

The rise in temperature disturbs the rain cycle.
(a) No improvement

(b) disturbing the rain cycle

(c) was disturbed the rain order

(d) disturb the rainy cycle

Q179. Choose the word that means the same as the
given word.

Backstab

(a) Bleary

(b) Betray

(c) Berate

(d) Blare

Q180. Select the most appropriate option to fill in
the blank.

[ am just saying that maybe you are letting emotion
_____your better judgment right now.

(a) finger

(b) clamp

(c) clog

(d) cloud

Q181. Select the most appropriate option to fill in
the blank.

His ___ of smoking in restaurants created a lot of
issues in New York.

(a) hatred

(b) orbit

(c) reputation

(d) habit

Q182. Choose the word that can substitute the
given group of words.

A place where fruit trees are grown

(a) Dyke

(b) Botanical

(c) Cemetery

(d) Orchard
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Q183. Select the appropriate antonym for the
highlighted word.

Many children still do not have access to quality
education that will harness their inherent abilities
and talent.

(a) handle

(b) misapply

(c) exploit

(d) direct

Q184. Choose the word that is opposite in meaning
to the given word.

Suspicion

(a) Tremor

(b) Conviction

(c) Incertitude

(d) Niggle

Q185. Find the part of the given sentence that has
an error in it. If there is no error, choose ‘No error.
[ want all the culprits to be punished immediate.
(a) the culprits to

(b) I want all

(c) No error

(d) be punished immediate.

Q186. In the following question, out of the given
four alternatives, select the alternative which best
expresses the meaning of the Idiom or Phrase.

To button one’s lips

(a) To keep silence

(b) To rain heavily

(c) To kidnap somebody

(d) To advance in harmony

Q187. Choose the word that can substitute the
given group of words.

To renounce a throne

(a) Assert

(b) Abdicate

(c) Abort

(d) Avow

Q188. Identify the segment that contains a
grammatical error, if there is no error, select ‘No
error’.

His struggles were becoming more and more
frenzier, a wild look creeping into his blue eyes.

(a) His struggles were becoming

(b) more and more frenzier,

(c) No error

(d) a wild look creeping into his blue eyes.

Q189. Select the appropriate synonym for the
highlighted word.

There are actually many different versions of
“Cinderella.”

(a) Features

(b) Signals

(c) Problems

(d) Variations

Q190. Improve the highlighted part of the sentence.
Choose ‘No improvement’ as an answer if the
sentence is grammatically correct.

[ have to work in the morning, but I is freer in the
afternoon.

(a) is freed

(b) am frees

(c) am free

(d) No improvement

Directions (191-195): In the following passage,
some words have been deleted. Read the

passage carefully and select the most
appropriate option to fill in each blank.
Poetry and novels became very (1) in the

18th century. Robinson Crusoe by Daniel Defoe was
published in 1719. This is regarded as the first
successful English novel. It is partly based on the
true-life adventures of a traveler called Alexander
Selkirk. Jonathan Swift’s Gulliver’s travels was

written in 1726 and (2) four imaginary
journeys of ship’s doctor named Gulliver. Poetry
(3) around British people and places. Poets

also considered nature as a source of (4)
The poets wrote in a simple style and language so
that the (5) masses could understand it.
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Q191. Select the most appropriate option to fill in
blank number 1.

(a) popular

(b) desired

(c) influential

(d) likely

Q192. Select the most appropriate option to fill in
blank number 2.

(a) describes

(b) represents

(c) discloses

(d) expresses

Q193. Select the most appropriate option to fill in
blank number 3.

(a) revolved

(b) encircled

(c) revolutionized

(d) executed

Q194. Select the most appropriate option to fill in
blank number 4.

(a) incentive

(b) inspiration

(c) impulse

(d) motivation

Q195. Select the most appropriate option to fill in
blank number 5.

(a) modern

(b) traditional

(c) ordinary

(d) typical

Directions (196-200): Read the passage carefully
and choose the best answer to each question out
of the four alternatives

Salt March, also called Dandi March or Salt
Satyagraha, was a major nonviolent protest action
in India led by Mahatma Gandhi in March-April
1930. The march was the first act in an even-larger
campaign of civil disobedience (satyagraha) Gandhi
waged against British rule in India that extended
into early 1931 and garnered Gandhi widespread
support among the Indian populace and
considerable worldwide attention.

Salt production and distribution in India had long
been a lucrative monopoly of the British. Through a
series of laws, the Indian populace was prohibited
from producing or selling salt independently, and
instead Indians were required to buy expensive,
heavily taxed salt that often was imported. This
affected the great majority of Indians, who were
poor and could not afford to buy it. Indian protests
against the salt tax began in the 19th century and
remained a major contentious issue throughout
the period of British rule of the subcontinent.

In early 1930 Gandhi decided to mount a highly
visible demonstration against the increasingly
repressive salt tax by marching through what is
now the western Indian state of Gujarat from his
ashram at Sabermati near Ahmedabad to the town
of Dandi near Surat on the Arabian Sea coast. He set
out on foot on March 12, accompanied by several
dozen followers. After each day’s march the group
stopped in a different village along the route, where
increasingly larger crowds would gather to hear
Gandhi rail against the unfairness of the tax on poor
people. Hundreds more would join the core group
of followers as they made their way to the sea until
on April 5 the entourage reached Dandi after a
journey of some 240 miles (385 km). On the
morning of April 6, Gandhi and his followers picked
up handfuls of salt along the shore, thus technically
“producing” salt and breaking the law.

No arrests were made that day, and Gandhi
continued his satyagraha against the salt tax for the
next two months, exhorting other Indians to break
the salt laws by committing acts of civil
disobedience. Thousands were arrested and
imprisoned, including Jawaharlal Nehru, Abdul
Ghaffar Khan in April and Gandhi himself in early
May after he informed Lord Irwin (the viceroy of
India) of his intention to march on the nearby
Dharasana salt works. News of Gandhi’s detention
spurred tens of thousands more to join the
satyagraha. The march on the saltworks went ahead
as planned on May 21, led by the poet Sarojini
Naidu, and many of some 2,500 peaceful marchers
were attacked and beaten by police. By the end of
the year, some 60,000 people were in jail.
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Gandhi was released from custody in January 1931
and began negotiations with Lord Irwin aimed at
ending the satyagraha campaign. Gandhiji was
authorised by the then President of the Congress,
Sardar Vallabh Bhai Patel, to negotiate with Lord
Irwin. Gandhiji said he would attend the Conference
in the true spirit of a Satyagrahi. He advised the
nation to wait, watch, pray and hope for a better
prospect for India.

The outcome of these talks was the Gandhi Irwin
pact. They had eight meetings which lasted for a
total of 24 hours. Gandhiji was impressed with
Irwin’s sincerity and on behalf of the Indian
National Congress agreed to discontinue the Civil
Disobedience movement. A truce subsequently was
declared, which was formalized in the Gandhi-Irwin
Pact that was signed on March 5. The calming of
tensions paved the way for Gandhi, representing the
Indian National Congress, to attend the second
session (September-December 1931) of the Round
Table Conference in London. Some of the other
conditions were that the British would withdraw all
orders imposing curbs on the activities of the
Indian National Congress. They also agreed to
withdraw trials relating to several offences except
those involving violence and release of prisoners
arrested for participating in the civil disobedience
movement. It was also agreed that the British would
remove the tax on salt, which allowed Indians to
produce, trade, and sell salt legally and for their
own use.

Q196. As per the passage, who led the march on
the saltworks on May 21 after the arrest of
Gandhiji?

(a) Jawaharlal Nehru

(b) Sarojini Naidu

(c) Sardar Vallabh Bhai Patel
(d) Abdul Ghaffar Khan

Q197. What evokes the tens of thousands to join
the satyagraha?

(a) The news of arrest of Gandhiji

(b) Unfairness of the tax on poor people

(c) Because 2,500 peaceful marchers were attacked
and beaten by police

(d) They wanted to break the law

Q198. In which year was the Dandi march the
major nonviolent protest action in India led by
Mahatma Gandhi?

(a) January 1931

(b) September-December 1931

(c) early 1931

(d) March-April 1930

Q199. What is the synonym of the word
‘Contentious’ as per the context of the passage?
(a) Rigorous

(b) Indisposed

(c) Controversial

(d) Condemned

Q200. As per the passage, by whom Gandhiji was
authorised to negotiate with Lord Irwin?

(a) Sardar Vallabh Bhai Patel

(b) Jawaharlal Nehru

(c) Indian National Congress

(d) Jawaharlaal Nehru

$1. Ans.(a)

Sol. (a) Only 1 is correct

Explanation:

1. The Rh factor is indeed a type of protein found on
the surface of red blood cells. Most people have this
protein and are Rh positive, while those without it
are Rh negative.

2. The statement that people with Rh positive blood
can donate to those with Rh negative blood is
incorrect. In general, Rh negative people cannot
receive Rh positive blood because they may form
antibodies against the Rh factor, leading to a
transfusion reaction. However, Rh positive people
can receive blood from Rh negative donors.
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S2. Ans.(b)

Sol. The answer is (b), Pteridophyta.

Here is the solution in detail:

e Bryophyta are non-vascular plants that do not
produce seeds. They reproduce by spores.
Examples of bryophytes include mosses,
liverworts, and hornworts.

e Pteridophyta are vascular plants that produce
spores, but do not produce seeds. Examples of
pteridophytes include ferns, horsetails, and
clubmosses.

that

produce seeds, but the seeds are not enclosed in

e Gymnosperms are vascular plants
a fruit. Examples of gymnosperms include
conifers, such as pines, firs, and spruces.

e Angiosperms are vascular plants that produce
seeds that are enclosed in a fruit. Examples of
angiosperms include flowering plants, such as
roses, tomatoes, and potatoes.

Therefore, the plant that has vascular tissue and

produces spores, but does not contain seeds is a

pteridophyte.

Here is a table that summarizes the characteristics

of the four plant groups:

| Plant Group || Vascular Tissue ” Seeds |
‘ Bryophyta “ No H No ‘
‘ Pteridophyta “ Yes H No ‘
‘ Gymnosperms “ Yes H Yes, but not enclosed in a fruit ‘
| Angiosperms || Yes ” Yes, enclosed in a fruit |
$3. Ans.(c)

Sol. The answer is (c). Protease

e Protease is an enzyme that breaks down
proteins into smaller peptides.

e Lipase breaks down lipids, which are fats and
oils, into glycerol and fatty acids.

e Amylase breaks down carbohydrates, such as
starch, into glucose.

e Nuclease breaks down nucleic acids, such as
DNA and RNA, into nucleotides.

Here is a more detailed explanation of how

proteases work:

e Proteases are a group of enzymes that catalyze
the hydrolysis of peptide bonds in proteins.

e Peptide bonds are the chemical bonds that link
amino acids together in proteins.

e Proteases can be classified into two main
groups: endopeptidases and exopeptidases.

e Endopeptidases cleave peptide bonds within
the protein chain, while exopeptidases cleave
peptide bonds at the ends of the protein chain.

e Some common proteases include pepsin,
trypsin, chymotrypsin, and carboxypeptidase.

e These proteases are produced in the stomach,
pancreas, and small intestine.

e They play an important role in the digestion of
proteins in the human body.

S4. Ans.(c)

Sol. The correct answer is (c)

The fight-or-flight response is activated by the

sympathetic nervous system (SyNS). So the answer

is (c).

The fight-or-flight response is activated by the

sympathetic nervous system (SNS). The SNS is a

part of the autonomic nervous system (ANS), which

is responsible for involuntary bodily functions such

as heart rate, breathing, and digestion.

When the SNS is activated, it causes a number of

changes in the body, including:

e Increased heart rate and blood pressure

e Increased breathing rate

e Dilated pupils

e Increased blood flow to the muscles

e Decreased blood flow to the digestive system

e Release of stress hormones such as adrenaline
and cortisol

The somatic nervous system (SNS) is responsible

for voluntary movements, such as walking, talking,

and blinking. The central nervous system (CNS) is

the brain and spinal cord. The parasympathetic

nervous system (PSNS) is responsible for calming

the body down after the fight-or-flight response has

been activated.
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$5. Ans.(c)
Sol.

The Correct answer is (c].

When an acid reacts with a metal carbonate, the gas that is usually released is carbon dioxide
(€03).

The general chemical reaction between an acid (H+) and a metal carbonate (MC0;) can be
represented as follows:

2 H+ (acid) + MCO; (metal carbonate) > M2+ (metal ion) + €03 (carbon dioxide) + H,0
{water)

Here's a detailed explanation of the reaction:

1. The acid {H+) donates hydrogen ions to the metal carbonate (M€03). In this case, we'll
consider a generic metal represented by "M."

2. The metal carbonate {(MCO3) dissociates into metal ions {M?*") and carbonate ions
{€0% 7). The hydrogen ions from the acid replace the metal ions in the carbonate.

3. The carbonate ions (C0Z™-) break down further into carbon dioxide (€0,) and oxygen
jons (027,
4. The carbon dioxide {CO,) gas is released as a product, and the oxygen ions (027)

combine with the hydrogen ions from the acid to form water (H,0).
The balanced equation for the reaction, using a generic metal reprasented by "M," would be:
2 H+ + MCOz > M?* + 004 +H,0

Thus, the correct gas released during this reaction is carbon dioxide {CG;), making option {c)
the correct answer.

$6. Ans.(a)

Sol. The correct statement is (a) Only Statement 1

is correct.

e Statement 1: Isotopes of an element have the
same number of protons but different numbers
of neutrons. This statement is correct. [sotopes
are different forms of an element that have the
same number of protons but different numbers
of neutrons. Protons determine the element's
atomic number, which defines the element itself.
Since isotopes have the same number of
protons, they belong to the same element. The
difference in the number of neutrons in isotopes
results in variations in their atomic mass.

e Statement 2: Isotopes of an element have
different atomic numbers. This statement is
incorrect. Atomic number is a fundamental
property of an element and is defined by the
number of protons in an atom. Isotopes of an
element have the same atomic number because
they possess the same number of protons. The
atomic number determines the element's
identity and its position in the periodic table.

e In summary, only Statement 1 is correct.
[sotopes of an element have the same number of
protons but different numbers of neutrons,

resulting in variations in atomic mass.
Statement 2 is incorrect because isotopes of an
element have the same atomic number
Therefore, the correct option is (a) Only
Statement 1 is correct.

S7.Ans.(a)
Sol.

The IUPAC name of the compound with the formula CH3-CH,-COOH is propanoic acid. So
the answer is (a).

The compound with the formula CH3-CH3-COO0H has a chain of 3 carbon atoms, so the parent
chain is propane. The suffix "-oic acid” indicates that the compound is an acid. The -CO0H
group is the carboxyl group, which is the characteristic group of carboxylic acids.

Therefore, the IUPAC name of the compound is propanoic acid.

Here is a table summarizing the IUPAC names of the four compounds:

Compound Formula IUPAC Name

Propancic acid CHy-CH,-COOH Propancic acid

”Ethano[c acid CH;-COOH Ethanoic acid

||Methano[c acid CH,0, hMethanoic acid

CH3-CH,-CH,-COOH Butanoic acid

”Butanoic acid

$8. Ans.(b)
Sol. The answer is (b).
The sensation of weightlessness in a spacecraft in
an orbit is due to the fact that the acceleration in the
orbit is equal to the acceleration due to gravity
outside. This means that the spacecraft and
everything inside it is in a state of free fall, and there
is no net force acting on them. As a result,
astronauts in orbit feel weightless, as if they were
floating in space.

Here is a more detailed explanation of the

phenomenon of weightlessness in space.

e When an object is in free fall, it experiences no
net force. This is because the force of gravity is
pulling the object downwards, but the object is
also moving sideways with enough velocity to
counteract the force of gravity. This results in a
state of weightlessness, where the object
appears to be floating in space.

e A spacecraft in orbit is also in free fall. The
spacecraft's orbital velocity is just enough to
keep it falling around the Earth, but not enough
to actually collide with the Earth. As aresult, the
spacecraft and everything inside it experiences
weightlessness.
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S9. Ans.(c)

Sol. The correct answer is (c)
To calculate the consumption of electricity, we need
to determine the total energy consumed by the five
100-watt bulbs illuminated continuously for twenty
hours.

The formula to calculate energy consumption is:
Energy (in Kkilowatt-hours) = Power (in
kilowatts) x Time (in hours)

First, we need to convert the power of each bulb
from watts to kilowatts:
Power of one bulb = 100 watts =

kilowatts = 0.1 kilowatts

100,/1000

Now, let's calculate the total energy consumption:
Total power of all bulbs = Power of one bulb x
Number of bulbs = 0.1 kilowatts x 5 = 0.5 kilowatts
Time = 20 hours

Energy consumption = Total power x Time = 0.5
kilowatts x 20 hours = 10 kilowatt-hours
Therefore, the consumption of electricity will be 10
units.

So the correct answer is (c) Ten units.

$10. Ans.(c)

Sol. The answer is (c) Rate of change of magnetic
flux linkage

According to Faraday's Law of Electromagnetic
Induction, the induced electromotive force (emf) in
any closed circuit is equal to the negative of the rate
of change of the magnetic flux enclosed by the
circuit. Therefore, the magnitude of the induced
emf in a coil is directly proportional to the rate of
change of magnetic flux linkage.

$11. Ans.(d)

Sol. The answer is (d) Karikala Chola
e The famous naval expedition against the
Kalabhras was carried out by Rajaraja Chola I,
who was one of the greatest Chola kings. He

ruled the Chola dynasty from 985 to 1014 CE.

e The Kalabhras were a group of invaders who
had established their rule in parts of Tamil Nadu
during the early medieval period. They had
weakened the political power and stability in
the region, and their rule was marked by chaos
and mismanagement.

e Rajaraja Chola I recognized the threat posed by
the Kalabhras and embarked on a military
campaign to defeat them and restore the Chola
Empire's dominance. He mobilized a strong
naval force and launched a massive expedition
against the Kalabhras.

e Under the leadership of Rajaraja Chola I, the
Chola navy sailed along the eastern coast of
South India, targeting the Kalabhras'
strongholds. The Chola forces engaged in fierce
battles at sea and on land, gradually pushing
back the Kalabhras and reclaiming the lost
territories.

e Rajaraja Chola I's naval expedition against the
Kalabhras was a significant military success,
and it helped in restoring stability and order in
the region. This victory marked the resurgence
of the Chola Empire's power and established
Rajaraja Chola I as one of the most renowned
and influential Chola kings in history.

$12. Ans.(a)

Sol. The answer is (a) Vakatakas.

The Vakatakas were a dynasty that ruled in the
Deccan region of India from the 3rd to the 6th
centuries CE. They were the successors of the
Satavahanas, and their capital was at Vatsagulma
(modern Paithan). The Vakatakas were patrons of
artand literature, and their reign saw a flowering of
Indian culture.

Here is a table that summarizes the successors of
the Satavahanas in the Deccan:

Dynasty Date Capital

Vakatakas 3rd-6th centuries CE  |Vatsagulma (modern Paithan)

Kadambas 5Sth-8th centuries CE Banavasi

Rashtrakutas 7th-10th centuries CE  |[Manyakheta

Chalukyas of Badami |6th-8th centuries CE Badami
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$13. Ans.(c)

Sol. The answer is (c).

e The Syed Brothers were two powerful nobles in
the Mughal Empire during the early 18th
century. They were Syed Abdullah Khan and
Syed Hassan Ali Khan Barha. They were known
for their military prowess and their political
influence. They were instrumental in the
ascension of Farrukh Siyar to the Mughal throne
in 1713. However, they later turned against
Farrukh Siyar and blinded and deposed him in
17109.

e In conclusion, the Syed Brothers were two
powerful local nobles who were instrumental in
the ascension of Farrukh Siyar to the Mughal
throne. However, they later turned against
Farrukh Siyar and blinded and deposed him in
17109.

S$14. Ans.(a)

Sol. The only Governor-General/Viceroy to be
assassinated in office was Lord Mayo. The correct
answer is (a) Lord Mayo.

Lord Mayo served as the Viceroy and Governor-
General of India during the British colonial period.
He held this office from January 12, 1869, until his
tragic assassination on February 8, 1872.

$15. Ans.(b)

Sol. The correct answer is (b)

The Vernacular Press Act was reversed by Lord
Ripon. He was the Viceroy of India when the
Vernacular Press Act of 1878 was enacted, and
during his tenure, he worked towards its repeal in
1882. The Act had imposed restrictions on the
freedom of the Indian-language press, and its
reversal was an important step towards restoring
press freedom in India during British rule.

$16. Ans.(b)

Sol. The correct answer is (b) The hereditary Prime

Minister and chief administrator of the Maratha

Empire

e The Peshwa was the highest-ranking official in the
administrative system of the Maratha Empire. The
term "Peshwa" is derived from the Persian word
"Peshawar," meaning "foremost" or "prime minister."
The Peshwa was the de facto head of the state and
held considerable power and authority in the
Maratha government.

e The Peshwa was responsible for the day-to-day
administration of the Maratha Empire and served as
the chief advisor to the ruling Chhatrapati (Maratha
king). Initially, the office of the Peshwa was intended
to be an administrative post, but over time, it evolved
into a position of great political influence and
authority.

Some key responsibilities and functions of the

Peshwa included:

1. Chief Administrator: The Peshwa was in charge
of the overall administration of the empire.
They supervised the collection of revenues,
maintained law and order, and managed the
civil administration.

2. Military Leadership: While the Peshwa was not
the military commander-in-chief (that role was
usually held by the Sardar Senapati), they had
significant influence over the military decisions
and played a crucial role in strategic planning
and coordination.

3. Diplomacy: The Peshwa was often involved in
handling diplomatic relations with other
regional powers and foreign entities. They
represented the Maratha Empire in
negotiations and treaties.

4. Judicial Matters: The Peshwa had some
authority in judicial matters and presided over
certain legal cases. However, they usually had a
council of ministers to assist them in making
important decisions.

$17. Ans.(c)

Sol. President Smt Droupadi Murmu has given her
approval for 76 Gallantry awards to members of the
Armed Forces and Central Armed Police Forces on
the occasion of Independence Day 2023.

Among these honors are four Kirti Chakra awards
(awarded posthumously), 11 Shaurya Chakra
awards (including five posthumous), two Bar to
Sena Medals (Gallantry), 52 Sena Medals
(Gallantry), three Nao Sena Medals (Gallantry), and
four Vayu Sena Medals (Gallantry).

The President also approved one President's
Tatrakshak Medal (PTM) and five Tatrakshak
Medals (TM) to the Indian Coast Guard personnel
for their act of conspicuous gallantry, exceptional
devotion to duty, and distinguished/meritorious
service on the occasion of Independence Day 2023.
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$18. Ans.(d)

Sol. The answer is (d) R. Doraiswamy.

R. Doraiswamy has been appointed as the
managing director of Life Insurance Corporation of
India (LIC) with effect from September 1, 2023.
Currently, Doraiswamy is serving LIC as the
Executive Director at the head office in Mumbai.
About LIC:

Life Insurance Corporation of India (LIC) is an
Indian multinational public sector life insurance
company headquartered in Mumbai.

It is under the ownership of Government of India
and administrative control of the Ministry of
Finance.

It ranked 98th on the 2022 Fortune Global 500 list
with a revenue of X775,283 crore (equivalent to
8.2 trillion or US$100 billion in 2023).

$19. Ans.(b)

Sol. The answer is (b) Rs 15,000 crore.

The Jharkhand Chief Minister, Hemant Soren,
announced the “Abua Awas Yojna” on the occasion
of Independence Day 2023.

Under this scheme, the state government will
provide three - room houses to the needy in the
next two years at a cost of Rs 15,000 crore. The
scheme will benefit about 2 lakh families in the
state.

The scheme would run separately from the ongoing
central government PM Awas Yojna’, aiming to
provide housing for all.

“The PM Awas Yojna is set to end by March 2024.
The Abuaa Awas Yojna would be fully funded by the
state government.

$20. Ans.(c)

Sol. The answer is (c) Ashleigh Gardner (Australia).

e Ashleigh Gardner became the first player to secure
consecutive ICC Women's Player of the Month
awards in July and August 2023.

e She was awarded the prize for her outstanding
performances in the Women's Ashes and the tour of
Ireland. Gardner is an all-rounder who can bat and
bowl, and she was instrumental in Australia's
success in both series.

e This victory marks the fourth occasion that she has
clinched this prestigious monthly accolade,
surpassing fellow all-rounders Ellyse Perry and Nat
Sciver-Brunt in the race for the title.

$21. Ans.(c)

Sol. The answer is (c) Japan.

e Typhoon Lan made landfall in Japan on August 15,
2023. It brought heavy rain and strong winds,
causing flooding and power outages in several areas.

e Typhoon Lan was a tropical cyclone that hit central
Japan in mid-August 2023.

About Tropical Cyclone:

e Atropical cyclone is a rapidly rotating storm system
characterized by a low-pressure center, strong
winds, and a spiral arrangement of thunderstorms
that produce heavy rain and, in some cases,
tornadoes. They are typically formed over warm
ocean waters near the equator.

e Depending on their location and strength, Cyclones
are given many names in different regions of the
world - They are known as typhoons in the China
Sea and Pacific Ocean; hurricanes in the West Indian
islands in the Caribbean Sea and Atlantic Ocean;
tornados in the Guinea lands of West Africa and
southern USA. willy-willies in north-western
Australia and tropical cyclones in the Indian Ocean.

$22. Ans.(d)

Sol. The answer is (d) United States

According to Global Firepower, a prominent data

website specializing in defence-related

information, the United States possesses the most

powerful military force worldwide. Russia and

China follow closely in second and third place,

respectively. The recently released 2023 Military

Strength list, which evaluates over 60 factors, also

highlights nations with comparatively weaker

military forces such as Bhutan and Iceland.

Global Firepower (GFP):

Global Firepower (GFP) is a website that provides a

ranking of the world's militaries based on a number

of factors, including military manpower,

equipment, and financial resources. The GFP index

is updated annually, and it is considered to be one

of the most comprehensive and respected

assessments of military power in the world.

The GFP index is based on 50 factors, which are

grouped into five categories:

e Military personnel: This category includes the
number of active duty personnel, reserve
personnel, and paramilitary forces.
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e Land forces: This category includes the
number of tanks, armored fighting vehicles,
artillery pieces, and other land-based weapons.

e Air forces: This category includes the number
of fighter jets, bombers, transport aircraft, and
other air-based weapons.

e Naval forces: This category includes the
number of ships, submarines, and other naval
vessels.

e Financial resources: This category includes
the size of the military budget and the value of
the country's military-industrial complex.

$23. Ans.(d)

Sol. The answer is (d). Rossby waves are the

primary cause of the jet streams' undulating, wave-

like pattern.

e Rossby waves are caused by the interaction of
the Earth's rotation and the thermal contrast
between air masses.

e The Earth's rotation causes the air to deflect to
the right in the Northern Hemisphere and to the
left in the Southern Hemisphere. This is known
as the Coriolis effect. The thermal contrast
between air masses creates areas of high
pressure and low pressure. The air flows from
high pressure to low pressure, and this flow is
affected by the Coriolis effect.

e The combination of the Coriolis effect and the
thermal contrast between air masses creates
Rossby waves. Rossby waves are long, wavy
features in the atmosphere that can travel
thousands of kilometers. The wundulating
pattern of the jet streams is caused by the
passage of Rossby waves.

So the correct answer is (d).

Some additional details about Rossby waves:

e Rossby waves are named after Carl-Gustaf Arvid
Rossby, a Swedish meteorologist who first
described them in the 1930s.

e Rossby waves are a type of baroclinic wave.
Baroclinic waves are waves that are caused by
the difference in temperature between two air
masses.

e The wavelength of a Rossby wave is typically
about 5,000 kilometers.

e Rossby waves can travel at speeds of up to 100
kilometers per hour.

e Rossby waves can have a significant impact on
weather patterns. They can cause changes in
wind direction, temperature, and precipitation.

S24. Ans.(c)

Sol. Tuff is the rock that is primarily composed of

layers of volcanic ash. So the answer is (c).

Granite is formed from slow-cooling magma, shale

is formed from mud and clay particles, and

quartzite is formed from the metamorphism of
quartz sandstone.

Some more details about the rocks mentioned:

e Tuff: A pyroclastic rock, tuff is formed from the
accumulation of volcanic ash, cinders, and other
pyroclastic materials. It is often soft and porous,
and can be used as a building material.

e (ranite: An igneous rock, granite is formed from
the cooling and solidification of magma. It is
composed of mostly feldspar, quartz, and mica.

e Shale: A sedimentary rock, shale is formed from
the compaction and cementation of mud and
clay particles. It is often fissile, meaning that it
can be split into thin layers.

e (Quartzite: A metamorphic rock, quartzite is
formed from the metamorphism of quartz
sandstone. It is composed of mostly quartz, and
is very hard and durable.

$25. Ans.(c)

Sol. The correct answer is (c) Deccan Plateau

The Godavari River, one of the longest rivers in
India, originates from the Deccan Plateau. The
Deccan Plateau is known for its volcanic geology,
with various lava flows and volcanic formations
across its landscape.

The Godavari River, one of the longest rivers in
India, has its origin in the Deccan Plateau. The
Deccan Plateau is a large plateau located in south-
central India. It covers a significant portion of the
Indian peninsula and is known for its diverse
geological features, including volcanic activity.
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$26. Ans.(c)

Sol. The answer is (c)

Jute is referred to as the "Golden Fiber" due to its
golden and silky shine, and it's long, soft, and shiny
fibers. It is one of the cheapest and the strongest of
all natural fibers. West Bengal is one of the major
producers of Jute in India, thanks to the Ganges
Delta which provides fertile soil and sufficient
water supply for jute cultivation. Sugarcane and
Cotton are not referred to as "Golden Fiber," and
Mustard is not a fiber crop. Hence, the correct
answer is Jute.

$27. Ans.(a)

Sol. The correct answer is (a) Gonds

The Gonds tribe is well-known for its traditional
dance form called "Gaur Dance." Gaur Dance is a
significant cultural expression of the Gonds, an
indigenous tribe mainly found in central India. This
dance form often depicts the hunting prowess and
heroism of the tribe. It involves energetic
movements and rhythmic patterns, accompanied
by traditional music.

$28. Ans.(b)

Sol. The answer is (b)

The Pamba River flows through the state of Kerala.
It's of religious significance because of the
Sabarimala Temple, dedicated to Lord Ayyappa,
which islocated on its banks. Thousands of pilgrims
bathe in the river, believing its waters to be holy.

$29. Ans.(d)

Sol. The diameter of a cyclone's eye is usually less

than 200 km. So the incorrect statement is (d).

The other statements are all correct. Storm surge is

arise in sea level caused by the winds of a cyclone.

The damage caused by cyclones is primarily due to

the high wind speeds. The eye of a cyclone is

typically clear of clouds because it is a region of low

pressure.

Here are some additional

cyclones:

e C(Cyclones are rotating storms that form over
warm tropical oceans.

e They are classified according to their wind
speed, with the strongest being called super
typhoons.

information about

e Cyclones can cause extensive damage to coastal
areas, including flooding, storm surge, and high
winds.

e They <can also cause power outages,
communication disruptions, and crop damage.

$30. Ans.(d)

Sol. The answer is (d). Article 360

Financial emergency under article 360: If the
President is satisfied that there is an economic
situation in which the financial stability or credit of
India is threatened, he or she can declare a financial
emergency. Such an emergency must be approved
by the Parliament within two months.

$31. Ans.(a)

Sol. The correct answer is (a) Prime minister
According to the Indian Constitution, Article 78
states that "It shall be the duty of the Prime Minister
to communicate to the President all decisions of the
Council of Ministers relating to the administration
of the affairs of the Union and proposals for
legislation."

Therefore, the correct answer is: (a) Prime Minister.
The Prime Minister is the head of the Council of
Ministers and holds the highest executive position
in the Indian government. As per Article 78, it is the
Prime Minister's responsibility to inform the
President about all the decisions made by the
Council of Ministers pertaining to the
administration of the Union and proposals for
legislation. This communication ensures that the
President is kept informed of the government's
actions and decisions, and it is an essential aspect
of the functioning of the Indian parliamentary
system.

$32. Ans.(c)

Sol. The answer is (c), Both 1 and 2 are correct.

e Statement 1 is correct because Article 108 of the
Indian Constitution states that the Speaker of
the Lok Sabha shall preside over a joint sitting
of the two Houses of Parliament.

e Statement 2 is correct because Article 91 of the
Indian Constitution states that the Deputy
Chairman of the Rajya Sabha shall be elected by
the members of the Rajya Sabha.

Therefore, both statements 1 and 2 are correct.
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S$33. Ans.(a)

Sol. The correct option is (a) The Governor
continues to hold office but with limited powers.
During President's rule in a state, the Governor
continues to hold office, but their powers are
curtailed. The Governor acts as the representative
of the President in the state and exercises powers
on behalf of the President or the Union government.

S$34. Ans.(b)

Sol. The answer is (b), Article 15.

Article 15 of the Indian Constitution prohibits

discrimination on grounds of religion, race, caste,

sex, or place of birth. It states that "The State shall
not discriminate against any citizen on grounds
only of religion, race, caste, sex, place of birth or any
of them." This means that the government cannot
discriminate against anyone based on these factors.

Other Option Details:

e Article 13 prohibits the State from enacting any
law that takes away the fundamental rights of
citizens. It does not specifically mention
discrimination.

e Article 21 guarantees the right to life and
personal liberty

e Article 25 guarantees freedom of religion.

$35. Ans.(c)

Sol. The correct answer is (c). Both Direct and
Indirect Taxes are included in the distribution
between the Centre and States as per the Finance
Commission.

The taxes that are included in the distribution
between the Centre and the States are:

e Income Tax

e Union Excise Duties

e (Customs Duty

e (Goods and Services Tax (GST)

The Finance Commission takes into account a
number of factors, such as the financial needs of the
States, the revenue-raising capacity of the Centre
and the States, and the disparities in the levels of
development of the States, while making its
recommendations on the distribution of taxes.

$36. Ans.(c)

Sol. The correct answer is (c).

e Article 174 of the Constitution of India states
that "Six months shall not intervene between its
last sitting in one session and the date
appointed for its first sitting in the next session."

e This means that the state legislature must meet
at least once every six months. If there is a gap
of more than six months between two sessions,
the governor can summon the legislature to
meet.

e The reason for this provision is to ensure that
the state legislature is able to function
effectively and to keep a check on the executive.
If there is a long gap between sessions, the
legislature may not be able to effectively debate
and pass legislation, and the executive may
become too powerful.

Here are some additional details about the

provision:

e The gap between two sessions can be shorter
than six months, but it cannot be longer.

e The governor can summon the legislature to
meet even if there is less than a six-month gap
between sessions.

e The governor must consult with the chief
minister before summoning the legislature.

e The legislature can only be summoned to meet
once in a month.

$37. Ans.(a)
Sol. The correct answer is (a) depreciation.
e NDPatFC

o The revenue that the factors receive in the
form of wages, profits, rent, interest, etc. is
known as the Net Domestic Product at
Factor Cost (NDP at FC).

e GDP

o The total value added in a particular
economy is measured by the Gross Domestic
Product (GDP).

o The value-added, sometimes referred to as
intermediate consumption, is the difference
between the price of the goods and services
produced and the price of the goods and
services required to produce them.
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¢ Formula to calculate NDP FC
o It is computed by deducting depreciation
from the gross domestic product (GDP) and
it is represented as;
NDP at FC = GDP at FC - depreciation

$38. Ans.(c)

Sol. Jean Baptiste Perrin was a French physicist.

In his studies of the Brownian motion of minute
particles suspended in liquids (sedimentation
equilibrium), verified Albert Einstein’s explanation
of this phenomenon and thereby confirmed the
atomic nature of matter.

He was honoured with the Nobel Prize for Physics
in 1926.

$39. Ans.(d)

Sol. The ampere is the SI base unit of electric
current equal to one coulomb per second.
André-Marie Ampere was a French physicist, and
mathematician. Ampere is named after him.

He is the founder of classical electromagnetism,
which he referred to as "electrodynamics”,
solenoid, and the electrical telegraph.

$40. Ans.(c)

Sol. “The Wings of Fire’ is an autobiography of Dr.
APJ Abdul Kalam.

Avul Pakir Jainulabdeen Abdul Kalam was an Indian
aerospace scientist and statesman who served as
the 11th President of India from 2002 to 2007.

He is also known as the Missile Man of India for his
work on the development of ballistic missile and
launch vehicle technology

$41. Ans.(d)

Sol. The pattern follows a sequence of decreasing
by 3 letters and 2 letters ultranet in the alphabet:
V(-3)S(-2)Q(-3)N(-2)L(-3)I(-2) G

So, the answer is Q, I.

S$42. Ans.(a)

Sol. +1 pattern follows for each letter.
J(+1) K+ L(+1)M(+1) N,
MH#1)NMH1D)OGHD)P(+1)Q,
THDUGEDVEHD)W(HDX

So, the answer is NQX.

$43. Ans.(b)
Sol.

4, 9, 16, 25 36 49,
(2 (3 @ (57 (8)° (7)* (8)
S$44. Ans.(c)

Sol.

80, 63 48, 35 15
(92 -1, (8F -1, (7 -1 (6)*-1, (5)2—1, (&*-1
$45. Ans.(b)

Sol.

Ostriches
(i) %
{ii) v

(i) x

$46. Ans.(c)
Sol.

Flowers
(i) v

(i)
(i)

$47. Ans.(d)
Sol. 'THEORY'; Thereisno 'O &Y' in the given word.

$48. Ans.(c)
Sol. 'MEADOW'"; The word 'MEADOW' cannot be
formed from the original word due to the absence
of letter 'W'.

$49. Ans.(d)
Sol. ' PROUD '; There is no 'D' and ‘U’ in the given
word.

$50. Ans.(a)
Sol. Point — Line — Circle — Shape
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$51. Ans.(a)
Sol. Abstract — Introduction - Body — Conclusion

$52. Ans.(a)
Sol. Manufacturer — Distributor — Retailer —
Customer

$53. Ans.(d)

Sol. The odd one out is (d). The other brands are all
American companies, while BMW is a German
company.

S$54. Ans.(c)

Sol. 'Meticulous' and 'Careful' have similar
meanings. Similarly, 'Lethargic' and 'Slack' have
similar meanings.

$55. Ans.(c)
Sol.14x14=196=1+9+ 6 =16;
22x22=484=4+8+4=16.

$56. Ans.(b)

Sol.

J>0>U>P>H>B
56 43

O gets 56 marks.

$57. Ans.(b)

Sol.

J>0>U>P>H>B
56 43

Two students get less marks than P.

$58. Ans.(d)
Sol.
J>0>U>P>H>B
56 43
H will obtain -21 marks, if the sum of total marks of
O,Uand His 120.

$59. Ans.(c)
Sol.

J>0>U>P>H=>B
56 43

No students get less marks than B.

$60. Ans.(b)
Sol.

J>0O>U=>P>H>B
56 43

sum of total marks scored by O & U is 56+43=99

S$61. Ans.(b)

Sol.

V121 +4/225=11+15=26
V100++/36=10+6=16

$62. Ans.(c)
Sol.

(7)2+3=52
(8)2+3=67

(9)2+3=84%83
(10)% + 3 = 103

$63. Ans.(c)

Sol.

Arun’s annual income = 15600

13 units = 15600

1 unit = 1200

Sum of Atul of Ayushi annual income = 1200 x 26

=[31200Rs.

S$64. Ans.(a)
Sol.
Let Present age of Riya =x

Priya’s present age = 3x

5 years ago, Priya’s age = 3x—5
AT.Q.

3x—5=5(x-5)
I3x—5=5x—25

2x=20=x=

10 years.

$65. Ans.(a)

Sol. Both A and R are true and R is the correct
explanation of A. We cannot see objects in a dark
room because there is no light for our eyes to reflect
off the objects and reach our eyes.
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$66. Ans.(d)

Sol. Ais false but R is true. The 'right to property’ is
not a fundamental right in India; it was removed
from the list of Fundamental Rights by the 44th
amendment in 1978. However, fundamental rights
are indeed enshrined in the Indian Constitution.

$67. Ans.(c)
Sol.
r\rﬁﬂ Pranav
&
Bhumj% Dhruw
. B
Chirag
Dhruv is Uncle of Chirag.
$68. Ans.(c)
Sol.
Sunil Ramesh
Preeti Jyoti@
&
Udit

Udit is Nephew of Preeti.

$69. Ans.(d)
Sol.

MONDAY

Similarly,
EVEN—=EENV

Letters in Asending Oders

*ADMMNOY

$70. Ans.(d)
Sol.

PIN=16+9+14=2 |, N0 oflotraps = 13
SHED=19+8+5+4=%=9
Similarly,

5|N=19+9+14=§=14

S$71. Ans.(d)
Sol. 3,4,1,2

$72. Ans.(a)
Sol. 1,4,2,3

S73 Ans.(b)

* —> ¢ Chandan

Bad:':!/

Abhay South-West ‘
S$74. Ans.(c)
Sol.

N

W G

5
If Anuj will stand on his head facing towards north
his left hand will indicate east direction.

$75. Ans.(d)

Sol.
12x6+2+39-13=73
By interchanging - and +
12x6-2+39+13
72-2+3=73

$76. Ans.(c)
Sol. The odd one out is (c). The other animals are all
herbivores, while a lion is a carnivore.

S$77. Ans.(d)
Sol. The odd one out is (d). The other elements are
all noble gases, while oxygen is not.

$78. Ans.(d)
Sol. The odd one out is (d). The other sports are all
played with a ball, while badminton is played with
a shuttlecock.

$79. Ans.(c)

Sol. The sequence in speed from fastest to slowest
is:

Lion > Zebra > Giraffe > Bear > Elephant

$80. Ans.(b)
Sol. The sequence in descending scores is:
Q>P>S>R>T
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$81. Ans.(d)

Sol.
Mean proportion = Vab
V36 x12.1 =6.6

Third proportion = (L%

a:b::b:c
=
(Third proportion = b:= c)
I'atio = s6.,1211
10 2
6 : 55

$82. Ans.(a)

Sol.
12 — 780516

1 — 65043
4 — 260172

$83. Ans.(d)
Sol.

A+B — 13_1 b
>22

c+D— = < 7

A+B+C+D — —

22
%13
11
= —days.
1zoay

$84. Ans.(b)
Sol.

Working together for 5 days. 5x (3 + 2) = 25.

Remaining work =36—-25=11

11 . -
iwurk is Remaining.

$85. Ans.(a)
Sol.
2 : 5P : MRP
-25%
w184 =184
460 552 736

Profit % = — x 100 = 20%
450

$86. Ans.(d)

Sol.
5 : 4
10 : 9
25 : 23
625 . 414
~_ A

211

Dis. %% X 100 = 33.76%

$87. Ans.(a)

Sol. Three year ago, sum of age of Amit, Bittu and
Chitu together = 27 x 3 = 81 years

Four years hence, sum of ages of Amit, Bittu and
Chitu together =81 + 7 x 3 =102 years

Let Four years hence

Amit’s age be 7x =Chitu’s age be 10x and Bittu’s age
be 10x-6

ATQ

7x+10x-6+10x =102

=27x=108=>x=4

Four years hence, Amit’s age = 7x4 = 28 years
Present age of Amit = 28-4 = 24 years

$88. Ans.(d)
Sol.
LCM, 15, 18, 42

=630
Mo. divided by 15, 18, 42

leaves remainder 8
630 =3 r)
1890 +8 = 1898

No. divisible by 13
1898=1+8+9+ 3
= 26 (digit sum)

$89. Ans.(a)
Sol.

Vv5535.36

=74.4

$90. Ans.(b)

Sol. 23474 is exactly divisible by 2 and 11.
(2+4+4)-(3+7)=0

Rule of divisible by 11.
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$91. Ans.(c)

Sol.
12% 10%;
H"““ﬁ.}h"#ﬁ

-.”,/‘ 75 ~—
86 : Gd

86+64=150
150unit-15000

Investat 10% = 64 x 100
= 6400 Rs

$92. Ans.(a)
Sol.
2800

Average if girls = — = 560

$93. Ans.(a)

Sol.

Percent of Height in interval 105-110
= x 100=2

80 4

=17. 5%

$94. Ans.(b)
Sol.

36
— ¥ 100
72

= 50%

$95. Ans.(a)
Sol.

Avg. of A, B=32
~A+B=64
Avg.of C,B =34
L~ C+B=68
Avg. of A, C=33
A+C=66

Now A+B+C=

A+B+C=99
Now A=31,B=33,C=35

(64+68+66)
2

$96. Ans.(a)

Sol. Let present age of A be x yrs.
& present age of B be y yrs.

ATQ

x+y=88+12

x+y=100 ..(i)

x-18=y-6
x-y=12 ..(ii)
solving (i) & (ii)
x=56

$97. Ans.(d)
Sol.

a®+b’

ai+b3-ah - (ﬂ, + b)
100 (675+325) = 100000

$98. Ans.(a)

Sol.

2o 2 (2
o PR

$99. Ans.(d)
Sol.

24 3 £ 3 1
Z e lof74Hx S =
5 7 5 10 5

:—X— — _——
5 3+5 10 5
a8 & 1
__I____
5 25 B
_ 4l
24

$100. Ans.(a)

Sol.
A B
189% 39%
27%%
12% 9%
4 3

$101. Ans.(b)
Sol.
12x6=3 =216 = total work

Remaining = 216 — 54

=162
162

-~ age of A 2 years hence = 58 yrs.

3 x 6 x 3 =54 = work for three days

. _ 1e2 _ 1
Complete by 2 painter = P 13 3 days
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$102. Ans.(c)

Sol.
CP MP SP
5 8 G
736

— X 75 =460
120

$103. Ans.(a)
Sol.

Let age of Ravi and Vicky, 4 years ago was 5x years and 6x years respectively
2 years later, age of Ravi=(5x+6) years

Age of Rocky, 2 years |ater=(¥ X 5) + 2 years
ATQ
6xtd _
(5x+6) + (2% x 5) + 2=63
x=4
required difference= 4 years

$104. Ans.(d)

Sol.

Let age of A, B, C& D be a, b, ¢ & d years respectively
ATQ -

a+b=2c+12 - (i)

Given, %= 50

b+d=100-— (i)

And, atbtetd =5Q

a+b+c+d=200—-—— (iv)
From (i) & (ii) —

b-d=12 ——— — (v}

From (iii) & (v) -

2b=112

b =56 years

d = 44 years

From (i} (iii) & (iv) —
atb+c+d=200

c =48 years

a=200 — (56 + 48 + 44)

a =52 years

Required difference between age of Aand C=52 — 48 = 4 years.

$105. Ans.(c)

Sol.
B

q

Number should be divisible by both 8 and 9
56x34y4

To be divisible by 8, y should be 2

to be divisible by 9, x should be 3

So, x+y = 2+3=5

$106. Ans.(a)

Sol.
V2361596 _ 486
BT 10

$107. Ans.(d)
Sol.

a® — b3
a? + bi 4+ ab

=——=10.025
100

$108. Ans.(a)

= (a—b)

Sol.

_26 [? {5 13}]
5 1z le 30
26 [? 6]
5 2 15

26 31

5 10

21

"~ 10

$109. Ans.(b)
Sol.
AT.0O

LCM »x HCF = Product of no.

6 X 5(]40_

210
x = 144

other no. is = 144

$110. Ans.(d)
Sol.

L.C.M. of{72cm, 84cm} = 504cm = 5.04m

$111. Ans.(d)

Sol. Failed in science = 100 - 54

Total failed = 14 + 32 + 10

=56

Passed in Both = 100 -56

44%

Mathematics
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$112. Ans.(d)
Sol.

prime no. between 11 and 25

11,13,17, 15, 23

11+13+17+19+ 23
5

Avg.=

16-6
5

$113. Ans.(d)
Sol.

Nl + Nz + R LT
Nl + Nz + TR T T
Ng + Nlu + "7 eum mw e awn

. .....+N2: =52x22
e +Ng =48 X 8
amm wwr ams e w +.I.n'|rlg. = 54‘ # 11

IErN22=x
SD,NZJ_=X+4

Nzu =x—3

Jx+1 =166

x =55

Req.avg.= 2.1':3 = ﬁ= 53.5

S114. Ans.(d)
Sol.
Pinty _ Pzrziz
100 100
Pi _ ?'ztz _ &6X5 _ 5

Pa Ty by 3Ixg 2

[ part = — X 13440 = 9600
245

Second part= i x 13440= 3840
So, diff = 9600 — 3840 = 5760

$115. Ans.(a)

Sol.

A B

18% 39%
27%

12% O
4 : 3
$116. Ans.(d)
Sol.
CP MP SP
2500 3100 2635
455 — 223200

2500-—3§§§9x2500 = 1200000

$117. Ans.(a)

Sol.

marks of Shunty =90 % 3 — 95 x 2 = 80
Marks of Dumpty = % ¥ B0 =96

. 95x2+B0+96 _ 366
Required average = — s — . - 91.5

$118. Ans.(c)

Sol. When we divide 10000 by 327

It gives remainder 190

Number, we can add = 327 - 190 =137

137 add to 10,000 than it exactly divided by 327

$119. Ans.(d)
Sol.
V3375

=15

$120. Ans.(c)

Sol.

16 [5 {5 (12 +9— 8)}]
5 |2 6 30

16 5 {5 13}]
5 2 &6 30

16 5 12]
5 2 30

16 63 33 11

$121. Ans.(b)

Sol. TAT-TTHAT & AT IT AT T T a3 | 127 TAT
gl

T - ST FIT & IFTLOT | Fael 418 &l STIRT
AT 8, 378 T J97 Fgd gl Tt 9T 31 gt g1 S
TH TR &

o 9t T o A i

T, T

S, o

S, ¢,

< 8, dq

o, HH

q,%,,F, g Th gral g

T - o F0TT o ISP | 18 AT T FaeT
T T STTRT BIAT 8, Ivg ST AU Fgd g TAhT T&T

13 T g1 ST 36 T2 &
% 9,9,%,3,5,d,q, 9% 09,9
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$122. Ans.(c)

Sol. FTAT 3 SATETT TT T A T F gId 2l

2 Ta-IS e ISP § FH 96T AT g N - A, T,
3, |

2 TT- TR IPTIOT § SATET 9HT FRTGT g SH- 9,
T, %, T, T, 3, &

o TY- 59 T2 % ISP H A AT 99T A9, I
*Ad Fed & | TEET =g a3 T § Aremra: wod
FT TANT Al 2raT | afash ATIT § wd &9 F TI0
T g g1 =8 ‘AT @ i Fgd 2 |

$123. Ans.(c)

Sol. IFTIUT TATH F AT I G+ A ‘T S 5
T+ ST GIT & IFTA g1+ AT Ho(A1 Tl Fgl ST
ol I+ = UH it g (fSraar o |19 & a=iol
B8 | IFTA) JId &, ST SrEaT gT aaeq Feah oY
FSIT AT o o1 ISP Al &, oH | 2,3, T, &, A0

QT Bl

$124. Ans.(d)
Sol. ¥ T A= &4<7 2T

TeAT- T9]
T[T T

$125. Ans.(b)
Sol. ‘HTHT=T &7 Ay orsx ‘T g, 9= fawew

T Bl

$126. Ans.(b)

Sol. TATIATHT 253 FAVI- A, Feleh, g, Tad, TIAT,
HETESTd, |1

THT- T, T |,

T IST- FF A, oo, T, I

$127. Ans.(a)

Sol. TT T TATIATHT 9158 IT’ B

Ta- UE, AT, e, Haar gl

A~ SA=GTaA, THAT A FAST AT [T T 6 F92
T &l

TYT- ST, a7, Tfaeren

$128. Ans.(c)

Sol. ‘fauTa’ FT fare i 9re7 ‘e’ 2
oruTR- g9, sadTs, IETHE, ™
AT - J9+, gival

$129. Ans.(b)

Sol. ‘T FT A= orex ‘e
&fToT- Ty

&Td- AT

EEURA

$130. Ans.(a)
Sol. ‘3%’ FT A &7 “ToF &
A=’ T 37 AT gIaT & TAT ‘[oF T o7 F@T gral gl

$131. Ans.(c)

Sol. TETE FT TATIATHT AT A5 B

TgTe- T, o=, 79, %, Aerey, O, A9, o,
TG, T, a0, Jad|

STAAT- &IT, STHIA, TAITAT, Fal, T, i, farr

$132. Ans.(c)

Sol. 'ITE T TATAATHT AT Gl 2l

JTEA- TITET, W, STAG, TATgH, AqE, aTE, TIIE,
GRS

$133. Ans.(b)

Sol. ‘THATY 9158 FT Hal @1 fH=wa Sfa+3Mia Rl
TgT T TG G G

ST Y L T, T o6 AT &l AT T ar g’ a+
STAT 8, T 3, T 6 91 HlS T T gl al ‘g a+ Srav
T, ST 3 F AT HTS A T2 al T a9 Jrar gl

$134. Ans.(b)

Sol. =7 ¥ & g™ #f 32 & ff UF dgcaqul w31
HTHET AT 2

312 T oref ZaT § 7SI, S 36 a197 il Gel o2 T
FAT B

v TasheT ST 70 TRt 7 9O o7 9819 d5! Hed|
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$135. Ans.(d)

Sol. TG ST &l Al [ERIT (AT % Hag §
ferfeer gam= w= it § ftga _afafwar g2l

v fasheT faw 10 TRt 7 9O o7 TaT J5] AL

$136. Ans.(c)
Sol. TH FEAT & aTE & ATl GTEeT HLd il T=T AT
ST & AL 7=

$137. Ans.(d)

S$144. Ans.(d)
Sol. ITIF YR § & A HgrawT g =T 727
TEATI" TGt TAT & €A U< ‘T 9758 IUIH gl AT

TETa< Tl 3| T 72T SMT- S9rd ST, 7 7 3167
T9sdT

$145. Ans.(c)
Sol. f3T T fAFedl § | 'SEE U FARAT-FATSE 2T

Tg Hera< &1 T ITIE el gl AGE 9T FAAT 1€
AT

Sol. T[T S[AAT % FATHT &, TATAT A ATT FgaTd
L
a1 7 51 Fgie | g, e 41 A0 a7 2

$138. Ans.(c)
Sol. 73T YT9AT B T3 7=t 4 o i gar <1 S
TTEHAT T 37 Haa grar gl

$139. Ans.(d)
Sol. I & g a9 2|

TH ST & T TZat SATHTOT & STqETE agadad AT &
AT AgAAT T T TART BIAT &, T G 8 5 31T

&l

$140. Ans.(c)
Sol. ‘AT WIEAT & ‘FAATTAT FTHAT HIAT T g

$141. Ans.(a)
Sol. ‘T F AFT | gl [AH I=AT FoF| qeras v 7

TO {=Td &1 3lrer I24T 2
SETEYOT AT AT KU L, AT B [ gl T2 T aqm
o qeTa g1 T 9= T

$142. Ans.(c)
Sol. T FT FHFT T Teh HgTal g, oreent o1 Zrar 8-
AT g2 aTal U2 faaTe FAT| IITgLr T FHTH T gl

§ Faeh! 9T AT 9 H ATEqT T8al gl

$143. Ans.(a)

Sol. T ITE T HgTaL FT el o g faa< Erae g
v e 36T &

SR~ T AT Fgd & il qH el | Tl ST 37 T
IEE AT & 1 & d3g 2l T

3aTg - fohehe | gfeeh o o FTE0T gEeT g &7 919
TThT ST I =& AT AT

$146. Ans.(d)

Sol. ‘I 2 B WS &l e o FHATH’ &7 o7 ‘TohelT
T AT il ITAT T2 o] e 1 | & ST, @
T 6 29T Bl GISHT T H1F H o ST, IF AT
TR AAAT I Tl ATCAT HT FIH FLA 3T, AT 1
BIEHT AT T Hlel o ST B

$147. Ans.(b)

Sol. ‘ST T qTE-Tag ST 'S & 0|
T 9Te% § qoed 9HTH 2|

SEH "H' 0T R B TAN g3l | THIAT, THH T e
THTE' Bl

$148. Ans.(a)

Sol. ‘TTLAH’ FT T -HA ST

T2~ ITH AT STk SIRT T HA

I | Ik TAATL AT ATCAET 7 T2aT, ATaAT0 FHHT Tgl
IEEE

$149. Ans.(b)

Sol. T H ‘AT AT THE &

LA AT GHTH-TA0g S TT- S8 & 6| A1 TS
FIE &, TATY, TT 'STATETH ey’ A giT| SHH

STOTETH T ahl (A T<h &' T gl STl 2l

$150. Ans.(c)

Sol. FAFAT' 9Te8 | ‘FHLTLT THTE g1 'FAherdl e
FT THTH-TAE §- e o qH dTl

ST TEaT 97 AT ST g uR ey srerat uE
T ITHTE qAT TET TS SUNRT BI, FHLATT T

FgATdT gl
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S$151. Ans.(a)

Sol. AT § WHH I5aT H ILEIL ATHSIET AT ATHT 6
TSR T ATHT THAAT o (A THTATE TG il [ohAT T Tea T
FEd 2|

$152. Ans.(c)

Sol. "I TEdF ATRY AT, I TH e T AT F1H 9
STTORTT &6 AT T IS0 21 HY<h a1 U
TR TST8 &7 AT T & STk STaTaT oot g1 ua a4t
STATHT TLTH g, 39 ATHT I GI<h a7 gl S1aT gl
g ATHT UF THL I ATCHT Al gid & U SATST 3T
T AT T HATAT 2

S$153. Ans.(b)

Sol. 37 F MY 9T T 10 THL % I &

Aaearg® e =T 5% H HAT AAAT GAATH HT
T AT o THY 9T5a[ o 979 The gIdTl &, S6 avaeel
e TAT Fgd gl SIH- F TgA, & WAL, il A, =l
qCF, o [T, F SAATAT, & T, o Fal, il ST, o 91,
= HT, % [EAOIq e

$154. Ans.(b)
Sol. fST& a1 § T AT &1 & ATerF T STATHT Bl AT

TSI GTXT S[S &, Sve G4 AT Tigd gl SH- 9 998
AT ST AT T & T S|

$155. Ans.(b)

Sol. 'ag IS FATAT gl' ATHT § AT F7 g
T 2

$156. Ans.(c)
Sol. T=ATET 3 STTATT "I 1 TTI IS ITHT AT <l 5,
qT ag AT Al Bl

$157. Ans.(b)
Sol. =TT o STTHTT "TaT 6 AT T Tg | AT HT

T AT AT & A

$158. Ans.(c)

Sol. ' TTSIT ST& &TET & & aF 7l AIAT o AT FHEd
THRTAT gl AT F ATCHT & "SI 9T Ael gidl g ad "4l
& ST | FEAT 0l &=TE gt gl

$159. Ans.(b)

Sol. TTET % ST 'T&T AT T8 U TEL 30T Tt [T T
H T THT THTY Kl & T4l FT 909 g1 AT, a7 go
AT o= graT g1 gl 98T FT a8 IaT ATTHEA 3fT
Fgl Aal T TG T 29"

$160. Ans.(b)
Sol. IT=AT9T o AT &I T e T ITHT S5 oA oftaer

R

$161. Ans.(a)

Sol. In place of ‘sweet’ adverb ‘sweetly’ will be used

in the given sentence to make it grammatically and

contextually correct.

e Sweet is an adjective which means pleasing in
general; delightful.

e Sweetly is an adverb which means in a generally
pleasing or endearing way.

e An adverb is a word or an expression that
generally modifies a verb, adjective, another
adverb, determiner, clause, preposition, or
sentence.

e Hence option (a) has the required grammatical
error.

$162. Ans.(a)

Sol. The word to be filled in the blank is ‘cultivated.

e (Cultivated means raise or grow (plants),
especially on a large scale for commercial
purposes.

e Hence, while comprehending the given sentence
option (a) makes the sentence grammatically
and contextually correct.

e Advanced means modern and recently
developed.

e Grown means (of a living thing) to undergo
natural development by increasing in size and
changing physically.

e All the other given words have different
meaning and do not fit in the context of the

sentence.
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$163. Ans.(c)

Sol. Lose your touch- you can no longer do

something as well as you could before.

e Use in a sentence- It's good to see their
goalkeeper's not losing his touch.

$164. Ans.(a)

Sol. Replace ‘resign’ with ‘resigned’ to make the

given sentence grammatically and contextually

correct.

e “Had” is the simple past as well as the past
participle form of the verb “have.”

e Had + V3 form is used for the sentences in past
tense.

$165. Ans.(a)

Sol. Bafflement- the condition of being completely

unable to understand or explain something.

e Synonyms- puzzlement, obfuscation,
bewilderment, befuddlement, confusion.

e Antonyms - inactivity, Tidiness, natural object,
clarity.

e Option (a) portrays the same meaning as that of
the given group of words & hence it is the
correct choice.

Meaning of other words:

e Confusion - uncertainty about what is
happening, intended, or required.

e Pleasure - a feeling of happy satisfaction and
enjoyment.

e C(Clarity - the quality of being coherent and
intelligible.

¢ C(Cleanliness - the state or quality of being clean

or being kept clean.

$166. Ans.(b)

Sol. Praise- express warm approval or admiration

of.

e Synonyms-
sycophancy.

laudation, panegyric, plaudit,
¢ Antonyms- condemn, blame, criticize.
e Option (b) gives the opposite meaning as of the

given word.

Meaning of given words:

e Celebrate - acknowledge (a significant or happy
day or event) with a social gathering or
enjoyable activity.

e Condemn - express complete disapproval of;
censure.

e Hail - pellets of frozen rain which fall in showers
from cumulonimbus clouds.

e Secure - fixed or fastened so as not to give way,
become loose, or be lost.

$167. Ans.(b)

Sol. Replace ‘between’ with ‘among’ in the given

sentence to make it grammatically and contextually

correct.

e Between means at, into, or across the space
separating (two objects or regions).

¢ Among means situated more or less centrally in
relation to (several other things).

$168. Ans.(a)

Sol. At one’s elbow- Immediately beside someone,

close by.

e Use in a sentence- The apprentice was
constantly at the master's elbow.

$169. Ans.(c)

Sol. Confront- come face to face with (someone)

with hostile or argumentative intent.

e Synonyms- rest, sojourn, stay, stop, tarry,
tolerate, wait, watch, challenge.

e Antonyms - forfend, journey, migrate, move,
proceed, reject,

e Option (c) portrays the same meaning as that of
the given group of words & hence it is the
correct choice.

Meaning of other words:

e Mingle - mix or cause to mix together.

e Conceal - not allow to be seen; hide.

e Challenge - a call to someone to participate in a
competitive situation or fight to decide who is
superior in terms of ability or strength.

e Scheme - a large-scale systematic plan or
arrangement for attaining a particular object or
putting a particular idea into effect.
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$170. Ans.(b)

Sol. Remove ‘themselves’ to make the given

sentence grammatically and contextually correct.

e The given pronoun is not required to complete
the meaning of the sentence and is
unnecessarily used.

S$171. Ans.(a)

Sol. The correct spelling is ‘Luxurious’.

Meaning of the given words:

¢ Luxurious- extremely comfortable or elegant,
especially when involving great expense.

¢ Innocent - not guilty of a crime or offence.

e Zealous - showing great energy or enthusiasm
in pursuit of a cause or objective.

¢ Judicial - of, by, or appropriate to a law court or
judge; relating to the administration of justice.

$172. Ans.(d)

Sol. Meaning of the given words:

e Professional - relating to or belonging to a
profession.

e Expert - a person who is very knowledgeable
about or skillful in a particular area.

e Ace - a playing card with a single spot on it,
ranked as the highest card in its suit in most
card games.

e Novice - a person new to and inexperienced in
ajob or situation.

e Option (d) portrays the same meaning as that of
the given group of words & hence it is the
correct choice.

$173. Ans.(b)

Sol. The proper arrangementis -d, a, c, b.

e When we look at the context of the jumbled
sentence, the paragraph will start with the
subject which is introduced in the statement (d)
about which other statements are made.

e So, statement d will be our first statement of the
jumbled sentences.

e Option (a) sentence is the further extension of
the statement (d). So, will be next in the order.

e Option (b) sentence will be the last in order.

e Option (b) fits perfectly in context and makes
the jumbled sentences grammatically correctly.
Therefore, the correct arrangement would be “d,
acb”

S$174. Ans.(a)

Sol. The correct spelling is ‘Argument’.

Meaning of the given words:

e Argument - an exchange of diverging or
opposite views, typically a heated or angry one.

e Performance - an act of presenting a play,
concert, or other form of entertainment.

e Valuable - worth a great deal of money.

e Secretary - a person employed by an individual
or in an office to assist with correspondence,
make  appointments, and carry out
administrative tasks.

$175. Ans.(a)

Sol. The word to be filled in the blank is ‘robbing’

¢ Robbing means deprive someone of (something
needed or deserved).

e The "-ing" form is used in progressive verb
tenses with auxiliary verbs (helping verbs).

e Hence, while comprehending the given sentence
option (a) makes the sentence grammatically
and contextually correct.

$176. Ans.(a)

Sol. The correct answer is option (a) ‘needs.

In the given sentence, the subject is "The small

amount of fusion fuel," and the verb should agree

with the subject in terms of number and tense.

Since the subject is singular and in the present

tense, the correct verb form is "needs."

Let's examine the options:

e needs - Thisis the correct answer. It matches the
singular subject and is in the correct tense. The
verb "needs" is used to express a requirement or
necessity.

e peed- Thisisnotavalid word in this context and
doesn't make sense.

e needing - This is a gerund form and is not
suitable for the verb tense and subject in the
sentence.

e needful - This is an adjective and doesn't work
as the verb in the sentence.

Therefore, the correct answer is option (a). The

sentence would read: "The small amount of fusion

fuel needs to be heated to huge temperatures.
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$177. Ans.(b)

Sol. The correct answer is option (b) ‘Largest
farmers usually’

Using the term "largest" for farmers might not be
appropriate. The correct term would be “richest” as
per the given context. instead of "largest" when
referring to farmers. So, the sentence should be
revised accordingly:

"Richest farmers usually have more money, social
power, and local influence."

$178. Ans.(a)

Sol. The given sentence "The rise in temperature

disturbs the rain cycle." is grammatically correct

and conveys the intended meaning effectively.

There is no need to make any changes to it.

e Option (a) "No improvement" is the correct
answer because the original sentence is already
well-constructed.

e Option (b) "disturbing the rain cycle" is not
appropriate as it changes the tense and
structure of the sentence, making it
grammatically incorrect.

e Option (c) "was disturbed the rain order" is
grammatically incorrect due to improper word
order.

e Option (d) "disturb the rainy cycle" changes the
tense and wording of the sentence, making it
incorrect.

Hence, the original sentence is the best choice as it

is grammatically correct and maintains clarity in

expressing the idea that a rise in temperature
affects the rain cycle.

$179. Ans.(b)

Sol. The word "backstab" refers to the act of
betraying or deceiving especially
someone who trusted you. In this context, "betray"
is the word that means the same as "backstab."

someone,

e Bleary: This word means having a blurred or
unclear vision, often due to tiredness or lack of
focus. It does not have the same meaning as
"backstab."

e Berate: This word means to scold or criticize
someone angrily. While it involves negative
behavior, it does not specifically convey the idea
of betrayal.

e Blare: This word means to make a loud, harsh
sound. It does not have the same meaning as
"backstab."

Hence, the correct answer is option (b) ‘Betray’, as

it best captures the meaning of "backstab,” which is

to betray someone's trust or deceive them.

$180. Ans.(d)

Sol. In the given sentence, the context suggests that

the speaker is suggesting that the person might be

allowing their emotions to influence their better
judgment. The word that fits best in the blank is

"cloud," as it is often used metaphorically to refer to

the way emotions can obscure or obscure clear

thinking or judgment.

e Option (a) "finger" is not appropriate in this
context. It does not convey the idea of emotions
affecting judgment.

e Option (b) "clamp" is not appropriate either. It
doesn't relate to emotions influencing
judgment.

e Option (c) "clog" doesn't convey the intended
meaning of emotions affecting judgment. It
implies more of a blockage rather than a mental
influence.

e Option (d) "cloud" is the correct answer.
Emotions can be said to "cloud" one's judgment,
indicating that they obscure or make it unclear.

Therefore, the correct answer is option (d) "cloud.”

$181. Ans.(d)

Sol. The sentence talks about someone's behavior

that caused problems in New York. The word that

fits this context is "habit," as it refers to a regular

practice or behavior that someone does without

much thought. In this case, the person's habit of

smoking in restaurants is what caused issues.

Let's analyze the other options:

e hatred - is a strong feeling of dislike or hostility
towards something or someone, and it doesn't
make sense to use it in this sentence.
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e orbit - refers to the path that a celestial object
takes around another object, such as a planet
orbiting a star.

e reputation - It doesn't fit well in the context. The
sentence is discussing someone's behavior
(smoking in restaurants), not their reputation.

Therefore, the correct answer is (d) habit, as it

accurately describes the person's consistent

behavior that caused issues.

$182. Ans.(d)

Sol. The correct answer is option (d).

e Dyke is a wall or embankment built to prevent
flooding.

e Botanical refers to plants and plant life.

e Cemetery is a place where dead people are
buried.

e Orchard is a place where fruit trees are grown.

$183. Ans.(b)

Sol. The correct answer is option (b) ‘misapply’.

e Harness means to make use of something in a
controlled and efficient way.

e Misapply means to use something in the wrong
way or for the wrong purpose.

e Exploit means to use someone or something
unfairly for one's own advantage.

e Direct means to give someone instructions on
how to do something.

In the sentence, "Many children still do not have

access to quality education that will harness their

inherent abilities and talent,” the highlighted word

"harness” means to use their abilities and talents in

a controlled and efficient way.

The antonym of "harness" is therefore "misapply,”

which means to use their abilities and talents in the

wrong way or for the wrong purpose.

$184. Ans.(b)

Sol. The opposite of ‘suspicion’ is ‘conviction’.
Suspicion is a feeling of doubt or mistrust.
Conviction is a strong belief or belief in something.
Hence, the correct answer is option (b).

The other options are:

e Tremor: a shaking or quivering movement.

e Incertitude: uncertainty or doubt.

e Niggle: a small, persistent worry or annoyance.

$185. Ans.(d)

Sol. The correct word is ‘immediately’ instead of

‘immediate’.

e Theadverb ‘immediately’ means ‘without delay’.
The adverb ‘immediate’ is an adjective and
means ‘existing or happening at the same time".

e The corrected sentence should be- [ want all the
culprits to be punished immediately.

Hence, the correct answer is option (d).

$186. Ans.(a)

Sol. The idiom "to button one's lips" means to keep

silence. Hence, the correct answer is option (a).

The other options do not make sense in this context.

Here are some other examples of idioms related

to lips:

e To bite one's lip - to repress one's anger or other
emotions

e To lick one's lips - to be eager or excited about
something

e To be tight-lipped - to be secretive or unwilling
to talk

$187. Ans.(b)

Sol. The correct answer is option (b) ‘Abdicate’.

e Assert means to state or declare something with
confidence or force.

e Abort means to end something suddenly and
prematurely.

e Avow means to declare something openly and
unreservedly.

Only abdicate means to give up or renounce a

throne or high office. Hence, the correct answer is

option (b).

Example: The king abdicated the throne in favor of

his son.

$188. Ans.(b)

Sol. The correct answer is (b). The word "frenzier"
is not a correct form of the adjective "frenzied". The
comparative form of "frenzied" is "more frenzied".
So, the correct sentence should be:

His struggles were becoming more and more
frenzied, a wild look creeping into his blue eyes.
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The correct form of the adjective to modify the word
"struggles” is "more frenzied". This is because the
comparative form of adjectives is used to compare
two things. In this case, we are comparing the level
of frenzy of the struggles. So, we need to use the
comparative form of the adjective "frenzied".

$189. Ans.(d)

Sol. In this context, the word "versions" is being
referred to as different forms or editions of the
story "Cinderella." A synonym for "versions" that
fits well in this context is "variations." Variations
represent different adaptations or alterations of the
same basic story.

(a) Features: refers to distinct characteristics or
attributes.

(b) Signals: refers to indications or signs.

(c) Problems: refers to difficulties or issues.

(d) Variations: This is the correct answer.
Variations indicate different forms or versions of
the same story, which aligns with the context of
"different versions of 'Cinderella."

Hence, the correct answer is option (d).

$190. Ans.(c)

Sol. The correct form of the verb to use with the
pronoun "I" is "am." The present tense form of the
verb "to be" for the pronoun "I" is "am." Therefore,
the correct form should be "I am free in the
afternoon.”

Let's analyze the options:

(a) is freed: This option changes the verb tense to
past tense ("is freed"), which is not correct in the
context of the sentence.

(b) am frees: While this option uses the correct
subject-verb agreement ("am" with "I"), the verb
form "frees" is incorrect.

(c) am free: This is the correct answer. It
maintains the correct subject-verb agreement and
uses the correct verb form "am" with "L."

(d) No improvement: This option is incorrect
because there is an improvement needed in the
sentence to correct the grammatical error.

Hence, the correct answer is option (c). The
improved sentence is: "I have to work in the
morning, but [ am free in the afternoon."

$191. Ans.(a)

Sol. The word that can be filled in the blank is

‘popular’.

e Popular meansliked or admired by many people
or by a particular person or group.

e As per the context, the word ‘popular’ fits in
very well & hence, it is the correct option.

$192. Ans.(a)

Sol. The word that can be filled in the blank is

‘describes’ to make the sentence grammatically and

contextually correct.

e Describes means give a detailed account in
words of.

e As per the context, the word ‘describes’ fits in
very well & hence, it is the correct option.

$193. Ans.(a)

Sol. The word that can be filled in the blank is

‘revolved’ to make the sentence grammatically and

contextually correct.

e Revolved means move in a circle on a central
axis.

e Asper the context, the word ‘revolved’ fit in very
well & hence, it is the correct option.

Meaning of other words:

e Encircled - form a circle around; surround.

e Revolutionized - change (something) radically
or fundamentally.

e Executed - put (a plan, order, or course of
action) into effect.

e Thus, all the other given words have different
meaning and do not fit in the context of the
sentence.

$194. Ans.(b)

Sol. The word that can be filled in the blank is

‘inspiration’ to make the sentence grammatically

and contextually correct.

e Inspiration means the process of being
mentally stimulated to do or feel something,
especially to do something creative.

e As per the context, the word ‘inspiration’ fits in
very well & hence, it is the correct option.
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Meaning of other words:

¢ Incentive - a thing that motivates or encourages
someone to do something.

e Impulse - asudden strong and unreflective urge
or desire to act.

e Motivation - a reason or reasons for acting or
behaving in a particular way.

e Thus, all the other given words have different
meaning and do not fit in the context of the
sentence.

$195. Ans.(c)

Sol. The word that can be filled in the blank is

‘ordinary’ to make the sentence grammatically and

contextually correct.

e Ordinary means with no special or distinctive
features; normal.

e As per the context, the word ‘ordinary’ fits in
very well & hence, it is the correct option.

$196. Ans.(b)

Sol. The correct answer is option b.

Refer to ‘Thousands were arrested and imprisoned,
including Jawaharlal Nehru in April and Gandhi
himself in early May ... The march on the
saltworks went ahead as planned on May 21, led
by the poet Sarojini Naidu.

$197. Ans.(a)

Sol. The correct answer is option a.

Refer to, ‘Thousands were arrested and
imprisoned, including Jawaharlal Nehru, Abdul
Ghaffar Khan in April and Gandhi himself in
early May ... News of Gandhi’s detention spurred
tens of thousands more to join the satyagraha.

$198. Ans.(d)

Sol. The correct answer is option d.

Refer to ‘Salt March, also called Dandi March or Salt
Satyagraha, major nonviolent protest action in
India led by Mahatma Gandhi in March-April
1930!

$199. Ans.(c)

Sol. The correct answer is option c.

Contentious - Causing, involving, or likely to cause
disagreement and argument.

Synonyms - Controversial, Aggressive, Agonistic,
Argumentative, Quarrelsome.

Antonyms - Nonaggressive, Peaceful, Uncombative.

$200. Ans.(a)

Sol. The correct answer is option a.

Refer to ‘Gandhi was released from custody in
January 1931....... Gandhiji was authorised by the
then President of the Congress, Sardar Vallabh
Bhai Patel, to negotiate with Lord Irwin'
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